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Preface

This paper is intended to be a practical guide to intertemporal modeling, with particular
emphasis on how intertemporal optimization can be incorporated into computable general equi-
librium models. It focuses on the practical details of building intertemporal models: how to set
up and solve intertemporal optimization problems, how to analyze such models in partial equilib-
rium, and how to link them to computable general equilibrium models. For the most part,
nuances of theory have been relegated to footnotes, but plenty of references have been provided
to enable an interested reader to pursue the subject in more depth. A reading guide for further
study appears at the end.

To make the paper as useful as possible, a number of exercises, complete with answers,
have been included. These present supplementary material or go into particular topics in more
depth. They can be used in the ordinary way to practice technigues discussed in the text, or they
can be used as rather lengthy footnotes on certain topics. In any event, they form an important
part of the paper and should not be neglected. Overall, with this structure and emphasis, we hope
the paper will be a useful introduction to the rapidly expanding field of intertemporal general
equilibrium modeling.



1 Introduction

Most applied economic models are designed to represent economies at particular points in
time. For long run models the point of interest is far in the future, when all immobilities have
vanished and all transient behavior has died out. On the other hand, the only period of interest in
short run models is the immediate present. In both cases, however, only one period is captured by
the model, so they are both essentially static. No information is included on how the economy
changes over time, so it is impossible to solve for the sequence of equilibria between the short
and long run solutions.

In contrast, intertemporal models specifically include equations describing how the econ-
omy evolves. These allow the models to be used to find the economy’s trajectory through time.
Unfortunately, this versatility comes at a price: intertemporal models are somewhat harder to
build — and much harder to solve — than static models. However, there are two circumstances in
which the extra effort is worthwhile. The first arises when the trajectory itself is of interest apart
from the short and long run equilibria. Policy makers, for example, are often keenly interested in
how fast the economy moves toward the long run, and whether or not the transition is smooth.
This is especially true when the short and long run effects of the policy are very different. Fur-
thermore, some models, especially those in which lags play a prominent role, show cycles in cer-
tain variables between the short and long run. If so, it is often important to know the timing and
amplitude of the oscillations. A final occasion in which the trajectory might be of interest occurs
when the model is to be used to evaluate the effect of different policies on the rate of growth.
Thus, in a number of circumstances it is necessary to be able to compute the path of the economy
over an extended period of time, and in these cases it would be worthwhile to build an intertem-
poral model.

The other reason for building an intertemporal model is to incorporate intertemporal opti-
mization by agents. If some of the agents in the model choose current variables to optimize
intertemporal objective functions, even short run results will require some form of intertemporal
modeling. For example, households might be modeled as lifecycle savers whose consumption is
based in part on their human wealth. Since human wealth is the discounted sum of expected
future labor earnings, any shock that changes expected wage rates or hours worked in the future
will change human wealth and hence change current consumption. Since the lifecycle model is
used more and more often as the basis of savings behavior, it has stimulated the development of
intertemporal modeling.

Perhaps the strongest motivation for developing intertemporal models, however, has been
the desire to integrate recent theories of investment behavior into applied general equilibrium
work. In such investment models, each firm chooses its level of investment to maximize the
stock market value of its equity. Market value, in turn, depends on the earnings a firm is expected
to generate in the future. Thus, changes in expectations about a firm’s prospects can change its
market value and hence its level of investment. To a large extent, this is nothing more than a for-
malization of the common sense principle that firms whose prospects look good will invest more
than others. Investment Bima faciean intertemporal decision, so treating it as such in general
equilibrium models is very appealing.
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In the remainder of this paper we present a small general equilibrium model incorporating
investment behavior derived from value maximizafioie begin by setting up and solving a
simple investment problem. Next, we analyze the investment model thoroughly in partial equilib-
rium to gain insight into how it works, and to demonstrate some powerful analytical techniques
that can be used with intertemporal models of all types. After that, we link the investment prob-
lem to a small, static general equilibrium model to produce an intertemporal general equilibrium
model. Finally, we will use the resulting model to analyze a number of different policies.

2 A Simple Intertemporal Model of Investment

We begin building our intertemporal model of investment by making two assumptions: first,
that each firm chooses its level of investment to maximize its stock market value, and second that
an arbitrage equation governs the relationship between returns on debt and returns on equities.
The first assumption establishes the basis for the firm’s investment behavior. There are many
other ways in which a firm might choose its level of investment, but this is the only one which is
likely to be optimal for its shareholders. The second assumption is needed to define how the
firm’s market value is determined by asset holders. Together, the two assumptions will allow us
to construct the firm’s objective function.

The next step in setting up the model is to choose a particular arbitrage equation and use it
to find an expression for the market value of a firm. In this paper we will use the arbitrage equa-
tion below:

FOV(t) = D(t) +V'(t) 2.1)

whereV(t) is the value of the firm at time t(t) is the rate of interest on bonds abDit) is the
dividend paid by the firm, and'(t) is the derivative of the firm’s value with respect to tifriche

left side of the equation gives the return that could be earned by holding V dollars of bonds. The
right side is the return received by holding all of the firm’s equity and is equal to dividends plus
capital gains. Arbitrage will occur as long as the returns on the two assets differ, so in equilib-
rium, equation (2.1) must hold.

Many extensions and modifications to equation (2.1) are possible. If equity is thought to be
riskier than debt, a risk premium could easily be added. If dividends, capital gains and interest
income are taxed differently, those taxes could also be included in the equation. We have used
expression (2.1) to keep our exposition as clear as possible, but it could easily be modified with-
out changing the substance of our analysis.

Expression (2.1) is a differential equation in the value of the firm. It can be solved by col-
lecting terms in V on the left, finding an appropriate integrating factor, and integrating both sides.

1. The investment model incorporates adjustment costs in the spirit of Eisner and Strotz (1963), Lucas (1967), Gould (1968) and
Treadway (1969). In this formulation, investment will depend on the marginal value of Tobin’s q (see Tobin (1969) for a discus-
sion of q).

2. For typographical convenience we will denote time derivatives using the prime s{)matilr than the usual dot.
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Collecting terms produces the following equation:
V'(t) = r(t)V(t) = - D(t) . (2.2)
When r is constant, an appropriate integrating factor for (22) is:
e, (2.3)
Multiplying both sides of (2.2) by (2.3) produces the following:
(V'(t) - rV(t))e™ =-D(t)e™ . (2.4)

From inspection, it is clear that the left side of (2.4) is the differential of the product of V and the
integrating factor, so (2.4) can be rewritten as:

d(V(e™) _

_ —It
" D(t)e ™ . (2.5)

Equation (2.5) shows how the value of the firm must change over time if the arbitrage equa-
tion is to hold. At this point, the expectations of investors become important. If investors have
information allowing them to form expectations about the future path of dividends, and they
believe the arbitrage condition will always hold, then (2.5) can be integrated to give the value of
the firm# To see this, suppose investors at timeave an information s, that leads them to
expect the path of dividends at all future timesr to be given by a functiod(t; Q,). That is,

D(t; Q,) is the dividend expected for timegiven information seQ,. Similarly, letV(t; Q,) be
the expected value of the firm tagiven informationQ,. Then, integrating both sides of (2.5)
from r to an arbitrary future tim& (and rearranging slightly) gives the expression below:

.
V(7;Q,) =V(T; Q,)e" T + I D(t; Q,)e" ") dt . (2.6)
T

Equation (2.6) has a clear and intuitive interpretation. If we le¢ the present, "today",
then the left termy/(r; Q,), is the value of the firm today, given today’s information. Moving to
the right,V(T; Q,) is the expected value of the firm at tiMeyiven information available today,
so the first term on the right side is the present value today of owning the firnFatally, the
rightmost term is the present value of the dividends expected to be paid betaregh. Thus,
equation (2.6) shows that the value of the firm today is equal to the present value of owning it at

3. When ris not constant the integrating factor becomes a bit more complicated; for this model it vm(wae(v)dv). How-

ever, none of the subsequent results would change significantly.

4. These expectations need not be correct, but they must exist; investors must have some belief about the dividends the firm will
pay in the future.
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T plus the present value of the dividends it will pay betweandT.

If we knew what investors today thought about the value of the firm at some particular time
T in the future, and what dividends they expected the firm to pay between now and then, we
could use (2.6) to compute the value of the firm today. Unfortunately, for most points in the
future, we do not know priori what investors expect the firm’s value to be, so we do not have an
appropriate value of(T; Q,). One solution, however, is to [&tgo to infinity. Then, by making
a plausible assumption about the rate of growti &r in the future, the middle term in (2.6) can
be evaluated.

To see how this works, observe that whergoes to infinity the middle term in (2.6)
becomes the following:

Jim V(T; Q,)e"T (2.7)

As long asV(T; Q,) remains bounded ab - oo, expression (2.7) will be zero. Thus, if V
remains finite for all time, the middle term in (2.6) can be dropped from the equation. In fact,
(2.7) will be zero under the more general condition that as T goes to infinity, the rate of growth of
V is strictly less than the interest rate. That is, (2.7) will be zero as long as the following holds:

V'(T; Q
lim 7( r) <

T-o0 V(T;Q,) (2.8)

Thus, if we are willing to assume that (2.8) holds, we can solve (2.6) for the value of the firm at
time t:

00

V(r;Q,) = I D(t; Q,)e" ) dt . (2.9)

This says that the value of the firm today is the present value of the dividend stream it is expected
to pay in the future, given today’s information.

Expression (2.8) is formally known as a "transversality condition" because it is a require-
ment imposed on the limit of V as time goes to infinity. It is an assumption made in order to
obtain equation (2.9), and is not an implication of the model because there is nothing in the prob-
lem we have specified so far that requires (2.8) to hold. However, it has a sensible economic inter-
pretation, and is not an unreasonable assumption. In essence, expression (2.8) rules out Ponzi
schemes that go on foreveTo see why, notice that if (2.8) is violated, the arbitrage condition
can only hold if the firm pays negative dividends. Otherwise, (if dividends were zero or positive)

5. In fact, the following analysis can also be applied, with slight modifications, when (2.8) holds with equality.

6. Ponzi schemes take their name from Charles Ponzi who perpetrated a famous chain letter swindle in the 1920's. Today the term
is used for any pyramid scheme that operates by continually drawing in new people at the bottom.
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the return on equity would be higher than the return on debt, so no one would be willing to hold
bonds. This would force the interest rate up until (2.8) held. The only time (2.8) can be violated
and still have the arbitrage equation hold is if investors are willing to pay money into a firm for-
ever without receiving any dividends. Thus, assuming that (2.8) holds is nothing more than rul-
ing out infinitely-lived Ponzi schemes.

In the remainder of the paper the values of all variables in future periods will always be
expectations based on an information®gt To keep our notation as simple as possible, we will
often suppres, from variable names and write, for examplgt; Q,) asV(t). It is important
to remember, however, that all variables at future times are expectations implicitly derived from a
particular information set.

At this point we have derived the objective function in the firm’'s investment problem: equa-
tion (2.9) gives the firm's value in terms of its expected future dividends. Furthermore, (2.9) has a
clear, intuitive interpretation: the value of the firm at titmie the discounted present value of its
dividend stream. This interpretation is so compelling that it is often tempting to begin building
investment models by assuming that (2.9) holds and dispensing with its derivation from arbitrage.
Starting with the arbitrage equation, however, provides a rigorous basis for (2.9). More impor-
tantly, the approach can also be used for much more complicated models (such as those with
taxes or risk premia) for which the form of the value function is not obvious from inspection.

The next step in setting up the investment problem is to specify how dividends depend on
the firm’s choice variables. To keep our model simple, we assume the firm pays out everything it
earns except what it uses for investment. In addition, we also assume that all investment is inter-
nally financed: the firm does not issue new debt or equity to pay for investment. These assump-
tions are fairly innocuous: introducing other means of finance such as corporate bonds or new
share issues alters the problem relatively little. In fact, the financial decision makes no difference
at all if capital markets are perféchonetheless, it is straightforward to incorporate finance into
the model if necessary.

Under the assumptions above, dividends are equal to the difference between the firm’s rev-
enue and the total of its variable costs, its investment costs, and any taxes it pays. To put this
symbolically, if K is a vector of capital stocks, is a vector of variable inputs,is a vector of
investments in the capital stock,is a vector of prices and wages, ahds a vector of taxes,
dividends are given by some functibfK, L, I, P, Z).

To get much further, we need to specify the actual forf.ofor the purposes of this sec-
tion, we will assume there is a single tax which falls on dividefifisand thatD is additively
separable into a short run profit function and an investment cost fufidthm short run profit
function gives the profit on a particular vector of capital stocks after variable inputs are chosen
optimally. Since this corresponds closely to the accounting idea of earnings, we will represent it

7. This is a consequence of the Modigliani-Miller theorem, first described in Modigliani and Miller (1958). Blanchard and Fischer
(1989) provides a clear discussion of this point in chapter 6.

8. Formally, we have assumed that the short run variable input decision is separable from the long run decision on investment, and
also that the capital stock does not enter the investment cost function. Both of these are controversial in the literature, and nei-
ther is really necessary to the model. However, they do keep the exposition much clearer.
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by function E, and will often refer to it as earnings. Usifigto represent the investment cost
function, dividends can be written as shown below:

D(K, L, 1,P,Z) = ( E(K,P)-C(l,P))1-T9. (2.10)

To keep our exposition as clear as possible, we will assume there is no sign constraint on divi-
dends (or that if there is one, it is never binding). In particular, we will not prohibit the firm from
spending more on investment than it earns at a particular date.

At this point we can set up and solve the firm’s investment problem under fairly general
conditions. Inserting (2.10) into (2.9) gives us the firm’s objective function. In addition, the firm
is subject to an accumulation constraint which specifies how the capital stock evolves as a conse-
guence of the firm’s investment. Here we will make the usual assumption that the time derivative
of the capital stock is given by the difference between gross investment and depreciation. Thus,
the firm’s investment problem at timeis to choose a path of investmehft) for t = r, that
solves®

00

max I( E(K,P)-C(I,P))1-THe D dt
T
subject toK' = | - 0K . (2.11)

Problem (2.11) requires dynamic optimization and can be solved using the method of opti-
mal control. Although a complete treatment of optimal control is well beyond the scope of this
book!® a simple problem, such as the one above, can be solved in the following way. Suppose
the problem has the form:

maxI f(s,c,t) dt,

subject tos' = g(s, ¢, t) ,

wheres andc are variables antlindicates time. It is customary to refer d@s the problem’s
"state variable" and as its "control variable". In problem (2.11), for example, the state variable
is the capital stockK) and the control variable is the rate of investmépt {o find necessary
conditions for an optimum, we form the problem’s Hamiltonian functibpas shown:

H = f(s,c,t) + Alt)g(s, ¢, t),

9. In writing the problem this way we have implicitly assumed that any constraint on the sign of investment would not be binding.
Moreover, we have also ignored certain boundary conditions (such as the initial capital stock) which constrain the firm. We will
discuss the boundary conditions in detail later in this section.

10. Avery lucid treatment of applied optimal control and other methods of dynamic optimization is Kamien and Schwartz (1981).
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whereA(t) is a multiplier much like the Lagrange multiplier of static probléhisis possible to
show that the solution must satisfy the following first-order conditiéns:

oH oH . 0H
E—O, E—_A, 67—5’

Thus, it is possible to characterize the optimal path of the state and control variables by construct-
ing the Hamiltonian and taking first-order conditions.

To apply this approach to our current problem, we start by constructing the Hamiltonian for
(2.112):

H=(E-C)1-THe "t + A(l - 5K). (2.12)

Thus, the necessary conditions for optimality of a particular path of investment are the following:

oH

7 =0, (2.13)
oH ,
a? —_/\ f (214)
oH ,

A K- (2.15)

Differentiating (2.12) as required by (2.13) through (2.15) produces the first order conditions for
the problem:

C
- ‘ZI A-THe™ D +A=0, (2.16)
]S
-5k - THe"ED + A=A, (2.17)

| -0K =K' . (2.18)

The multiplier,A(t), can be interpreted as the change in the value of the firm today (&) time
to a marginal increase in the capital stock at tirimethe future*® For convenience, we can intro-
duce a new function(t), which is defined as shown:

11.  Unlike the static case, however, a dynamic optimization problem will have a whole sequence of multipliers, one for each point
in time. Hence/\ is a function oft.

12. Referto Kamien and Schwartz or another textbook on dynamic optimization for proofs of these.

13. Thatis/\(t) shows how the stock market value of the firm would change if, at the optimum investment plan, investors suddenly
discovered that the firm was going to be given an extra unit of capital &t time
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A(t) = A(t)eT D (2.19)

The interpretation ofl is straightforward: it is the value at tinm@f having an additional unit of
capital at that time, based on information held at timd&o distinguish between it and, A is

often called the "current value" multiplier. Substituting (2.19) into (2.16) and (2.17) and rear-
ranging produces the expressions below:

A= (Z(I:(l—Td), (2.20)

A'=(r +6)A —gi(l—Td). (2.21)

Equations (2.20), (2.21) and (2.18) are the first order conditions for any problem in which the div-
idend function has the separability properties discussed above. To solve a particular problem, we
will need to insert specific functions f@& and C. However, a number of conclusions can be
drawn from the general structure above.

Starting with (2.20), if we assume that investment costs are a continuous, strictly convex
function of | (so thatC, andC,, are positive), then we know from the implicit function theorem
that there must be an inverse functfesuch that:

| =FQ1,TY9,P) . (2.22)

Thus, (2.20) determines the level of investment as an implicit functianibfA were known,|
could be calculated from (2.2%)In contrast, equation (2.21) is a first order differential equation
in A which does not depend dn This allows it to be solved using the method of integrating fac-
tors described above for the arbitrage equdfidn this case, the resulting expression is:

(o0
E
A) = J’ ZK (1- T D) gs (2.23)

Equation (2.23) shows how the market value of the firm changes in response to marginal
changes in its capital stock. Moreover, it has an interesting and useful interpretation. The right
side of (2.23) is the present value at tinué the additional future post-tax earnings that would be

14. This property has spawned dozens of empirical papers. Under conditions derived in Hayashil (88De linked to stock
market data, and hence can be observed. (This will be discussed in detail in exercise E6).ATdarspi taken to be exoge-
nous, choosing a particular functional form @rallows the adjustment cost model to be tested econometrically using only the
first of the necessary conditions, in this case the rewritten expression (2.22); one such example is Summers (1981). What is
often overlooked in these papers, however, is that sinaad | are simultaneously determined, it is inappropriate to assume
thatA is exogenous. See McLaren (1989) for a more complete discussion.

15. No loss of generality is implied by this. Were it not independent of investment, equation (2.22) could be used tolebgninate
substitution.
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generated by an extra unit of capital received at tiniehus, (2.23) determines the stock market
value of an extra unit of capital, while (2.22) selects the optimal level of investment given that
market valuation.

The next step in building a practical investment model is to derive the earnings and invest-
ment cost functions for a firm with a particular technology. Suppose the firm’s output is produced
according to a constant returns to scale Cobb-Douglas function of labor and capital:

q=LKYE. (2.24)

In the short run, the capital stock is fixed and the firm chooses labor to maximize the difference
between its revenue and its variable costs. That is, it solves the following problem:

max pq-—wL ,

subject toq = LEK 1 . (2.25)

The earnings function E can be found by inserting the optimal labor input found from (2.25) into
the maximand. The result is the expression below:

1-¢ ppd™?

EKP)=(") gy WK (2.26)

For convenience, we can define a functibwhich captures the price and wage effects, so (2.26)
can be rewritten as:

E(K,P) = B(P)K, (2.27)

wereP is a vector of wages and prices. The funci#gfR) gives the short run return on a unit of
capital, so it can be thought of as the rental price of the capital stock. We will often refer to earn-
ings functions that are linear i as having constant returns to scale.

Turning now to the investment cost function, we adopt the adjustment cost formulation and
require thaC and its first two derivatives be positive. This means that investment is costly, that it
becomes more expensive as more of it is done, and that its marginal cost incréassssasio
derive a particular investment cost function, we can start with an assumption about how new capi-
tal goods are produced.

Suppose that new capital goods have to be installed (in some sense) before they can be used
in production. Machines, for example, have to be installed in factories before they can be used.
Each firm might produce its own installed capital good by buying raw capital goods and hiring
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special workers to install it. If raw capital goods and installation services have to be combined in
fixed proportions, the production function for installed capital goods would have the following
form:

| =min{Xy, S}, (2.28)

where Xy is the quantity of raw capital goods, and S is a measure of installation services chosen
to have the same units Ag. Next, suppose that S is produced from labor as follows:

_oU 4

S=.5 0 (2.29)

whereL' is the labor hired for installation. Thus, the total cost of investment is the expenditure

on raw capital goods plus the cost of labor for installation. If the firm chogsesdL' to mini-
mize the cost of attaining any particular level of I, the investment cost function shown below is
obtained:

C(I,P) = Pl +6owl? . (2.30)

By inspection, (2.30) has the properties we required of an investment cost function: it is positive,
increasing and convex. As long ads greater than zero, there will be costs of adjustment in
investment since the marginal cost increases as | rises.

Next, the earnings function in (2.27) and the adjustment cost function in (2.30) can be
inserted into the general first order conditions derived above - (2.20), (2.21) and (2.18)- to pro-
duce the necessary conditions for this particular problem:

A= (P +2we1)(1-T9), (2.31)
A =(r+8)A-pP)A-T9), (2.32)
K'=1-05K. (2.33)

As suggested above, (2.31) can be solved for the optimal level of investment given a particular
value ofA:

1 A

Equation (2.34) can be used to eliminate | from (2.33), producing a final pair of differential equa-
tions inA and K:
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A =(r+38)A-pP)A-TY), (2.35)

A Pk
=—— - J0K-—. 2.36
2we(1—-T9) 2wo (2.36)

I

Equations (2.35) and (2.36) fully characterize the solution to the firm’s investment problem.
Solving them simultaneously would produce pathg a@ind K that were consistent with the first
order conditions for the problem laid out in (2.31) through (2.33). Unfortunately, it is impossible
to solve them analytically for arbitrary time paths of wages, prices and taxes. Instead, they must
usually be solved numerically. Later we will describe several numerical methods suitable for
problems like this. First, however, we will demonstrate a number of techniques that can be used
to provide a lot of intuition about the model’s behavior without actually solving for the optimal
path of investment.

3 Graphical Analysis

Ideally we would like to solve differential equations (2.35) and (2.36) for the time paths of
A and K, insert the resulting into (2.34), and solve for the path of investment over time. How-
ever, some of the terms in the equations, such as tax rates, can be arbitrary functions of time. That
means that (2.35) and (2.36) must be solved explicitly for each policy to be modeled. For most
policies, it will be difficult or impossible to solve the equations analytically, so numerical meth-
ods must be used to obtain explicit results for investment. On the other hand, (2.34) through
(2.36) do contain all relevant economic information about the solution, albeit implicitly. This
makes it possible to explore many properties of the model without actually solving for the explicit
path of investment. In the remainder of this section, we demonstrate how such an analysis might
proceed. The methods we use are routine analytical tools in the study of differential equations
and can be found in textbooks such as Birkhoff and Rota (1978).

3.1 The Steady State

The difficult integration required to solve (2.35) and (2.36) becomes easy when the model
reaches the steady state. For example, suppose that the exogenous variables eventually settle
down to stable valueBsS, T9™, wss and P{® at some point in the future. We can find the steady
state corresponding to these by settiigand K' to zero in (2.35) and (2.36) and solving the
equations simultaneously. This produces the expressions below:

ss s Dl_Tdss .
A%%= B(P%Q —— O, (3.1)
O O
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KSS: 1 Dﬁ(Pss) _ PSSD

200WSS I r + o ko (32)

From these, steady state investment can be found by inserting (3.1) into (2.34). As might be
expected, the result confirms that = 5K 5.

Equations (3.1) and (3.2) can be used to examine the effects of different shocks on the
model's steady state. This can be accomplished most easily by total differentiation of both
expressions with respect to prices and taxes:

dss s
d/\SS:(lr T ) OpB [P - ﬂ(Ps)

dTd™, (3.3)

1
2wWssgo

dKSS = —l OpB [P -

pss 4
205(r + O)WsS R (3.4)

wherell, g is a vector of partial derivatives gfwith respect to the elements Bf anddP*°is a
vector of changes in elementsf From (3.3) and (3.4) it is easy to see what happens when one

of the model's exogenous variables changes. For example, if the dividedd' taxvere to rise,
steady statel would fall, while the capital stock would be unchanged. Capital is unaffected

becausda ¢ is a pure profits tax in the long run, falling only on profits and not affecting any deci-
sions at the margin. In contrast, if the price of capRgf, were to rise, the steady state capital
stock would fall whileA®® would be unchangeda®® is present value of future earnings on an
additional unit of capital, so it is not affected by a change in the cost of new capital Bpods,
When the price of capital increases with no accompanying rigetime capital stock must fall.
Finally, changes in the prices and wages embodied in vBcéfiect A and K in the same way.

For example, from (2.26) an increase in the firm’s output price would incgaseA and K
would both rise. On the other hand, a rise in the wage rate would wserA and K would

both fall.

This sort of analysis can be applied to a wide variety of models, not just those that have an
explicit steady state. In fact, it can be used with any model that can be transformed to have a
steady state. For example, if the original model did not have a steady state because of exogenous
population growth, it could be transformed onto a per capita basis. The result would then have a
steady state. Models which do not themselves have steady states but which can be transformed to
have them are often said to attain balanced growth in the long run. Thus, steady state analysis can
be applied both to models with steady states, and to models with long-run balanced growth.
Moreover, this is likely to encompass all models with interesting long run behavior, since any
model which does not asymptotically attain balanced growth will eventually exhibit very peculiar
features (such as negative budget shares in consumption).
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3.2 Constructing a Phase Diagram

Knowing how the steady state responds to changes in the exogenous variables is helpful,
but it does not provide any information about the model’s dynamic behavior. For that, another
tool can be used: the Poincare phase pladephase plane is a two dimensional graph of a
model’s dynamic behavior that is constructed in the following way. Two of the model’s variables
are chosen to be axes. Usually these will be the two variables of most dynamic interest; in the
investment model above, they would band K. Then, for each point in the resulting plane, the
time derivatives of the two variables are evaluated. Again using the investment model as an
example, these would bE and K'. Together, these derivatives define a vector which indicates
the direction the system would move if it ever happened to reach that point. Thus, by using the
finished phase plane, it would be possible to trace out the complete trajectory of the system given
initial values of the dynamic variables. It would be a tedious but straightforward process: start at
the given point, evaluate the derivatives, take a small step in the indicated direction, and repeat.
As a practical matter, computing the derivatives of the dynamic variables at all points in the plane
is unnecessary. Indeed, most of the details of the model’'s dynamics can be found by computing a
few carefully chosen loci, as we will show.

The first step in constructing a phase diagram is to solve for and plot the model’s steady
state!’ At the steady state, the derivatives of both variables are zero, so if the system ever gets
there, it will stay there. Next, find the locus of points where the derivative of the first dynamic
variable is zero. This will include at least the steady state. Then, find the locus of points where
the derivative of the other variable is zero. Again, this should include the steady state. These loci
divide the plane up into several regions. In each region the derivatives of the dynamic variables
will have a particular sign, so if the system ever enters that region, it will unambiguously evolve
in a particular direction. From this it is possible to conclude a great deal about qualitative aspects
of the model’'s dynamics. To illustrate how a phase plane can be used, we will now construct one
for the investment model.

The variables of most dynamic interest in the investment model ame K, so we will use
those as the axes. From equations (3.1) and (3.2) we know the model has a unique steady state,
(155 K9), which is plotted in figure 3.1 and marked®\ext, we solve for the locus of all points
for which the time derivative o is zero. This can be accomplished by totally differentiating
(2.35) with respect ta and K, and settingdA’ to zero'® This produces an equation showing
what change must be madeiin order to keepl’ zero when K changes:

0=(r+0)dA. (3.5)

16. Phase planes, also called phase diagrams, are described in more detail in textbooks on differential equations such as Birkhoff
and Rota. They can be constructed for any system that is stationary, or "autonomous", in which the variables do not explicitly
depend on time.

17. A model without a steady state can often be transformed fairly easily to have one; for example, by converéngapita
basis. In the remainder of this section we will assume a steady state exists.

18. Multiple steady states can be accommodated, if necessary, although linear models will have only one.

19.  For this particular model, another way to find Ahe= O locus is to setA to zero in (2.35). However, this relies on an unusual
property of the model-the absencekofrom (2.35)-which will not be true in general.
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Thus, forA’ to be zerodA must be zero, s# must always remain at its steady state value. This
means that th@' = 0 locus is a horizontal line through the steady state in figur®® Bléxt, we
apply the same procedure to equation (2.36) to obtain a locus of points KWhereero. This
produces the following:

1

Forming the ratiaA/dK shows that:

dA §
g = 2we(L-Ts . (3.7)

This indicates that if K increases slightlymust also rise in order fd' to remain zero. Put
another way, thelA/dK locus must be upward sloping. Since it includes the steady state, it must
look like theK’ = 0 locus in figure 3.1.

These loci allow the model's dynamic behavior to be inferred without solving for the sys-
tem’s direction of motion at every point in the plane. To see why, we can consider the two loci in
turn. By construction, tha' = 0 locus contains all points in the plane whates zero. Points
not on the locus, therefore, have nonzero derivatives. Since both equations in the system are con-
tinuous inA and K, regions of positive and negative derivatives must be separated By=the
locus. Thus, the derivative dfmust have the same sign in regions | and Il, and must be nonzero.
Similarly, A" in regions Il and IV must be nonzero, and of the opposite sign to that of regions |
and 112! Inserting an arbitrary value of greater tham®® into equation (2.35) reveals that is
positive when is above its steady state value. In the same way it can be shown ihakega-
tive for values ofi below the steady state. These facts can be summarized on the phase diagram
by small arrows pointing up in regions | and Il, and down in regions Ill and IV.

The same technique can be applied to Khe 0 locus. Points to the right df' =0, in
regions | and IV, must have the same signKoér Inserting an arbitrary value of K above its
steady state into (2.36) shows th&t must be negative in those regions. Similarly, it can be
shown that the derivative of K must be positive in regions Il and Ill. This information can be
included in the phase diagram by small arrows pointing to the right in regions Il and Ill and to the
left in regions | and IV. The results are shown in figure 3.2.

The phase diagram is now almost complete and can be used to reveal a great deal about the
dynamic behavior of the model. For example, suppose the economy is initially somewhere in
region Il. We know from the analysis above, as summarized by the arrows drawn in region I,
that the system will move upward and to the right as long as it is in that region. In economic
terms, this means thatand K will both grow indefinitely, so the system will move farther and

20. As noted in the previous footnote, the absence of the capital stock from equation (3.5) is a particular property of this model and
will not be true in general. Exercise E5, for example, discusses a model which does not have this property.

21. We assume th&' = O locus does not lie along a local extremum.
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farther away from the steady state as long as it remains in region Il. The only event that could
possibly change the trajectory would be for the system to move into one of the other regions, but
we can show that never happens. The system cannot move from region Il into either region Ill or
region IV because in region Il the derivative fofs strictly positive. Thus, the system can only
move upward. On the other hand, the derivativ& @ positive in region Il, so the model could
move to the right toward quadrant I. As it did so, however, the derivatike wbuld become

closer and closer to zero, so the rightward motion would slow down. Finally, Kt th@ locus,

the system would not be moving to the right at all, and the upward motion of increasmgd

push it back into region Il. Thus, the system cannot move from region Il into any of the other
regions.

From this argument we know that if the system ever entered region Il it would move
upward and to the right forever. Similar reasoning shows that if the model entered region 1V, it
would move down and to the left forever. Regions | and Il are a little more difficult because it
turns out that the system does leave those sectors eventually, but in both cases it is possible to
show that the system will move farther and farther away from the steady state as time goes on.

The final step in constructing the phase diagram is to identify any dynamic paths that lead to
the steady state. So far, the situation does not look too promising: the path cannot run through
any of the regions | through IV because we have established that once the model enters those
regions it will never return to the steady state. However, two possible paths remaih=t@e
locus and th&’ = 0 locus. Of these, thK' = 0 locus can be ruled out becaus&ends to move
even farther away from its steady state value at each point along the locus. On the other hand, the
economy could move along the = 0 locus and would eventually converge to the steady state.
Thus, only a single path leads to the steady state and it lies aloag=ti@elocus. This is illus-
trated on figure 3.3 by a heavy line with several arrows.

A trajectory leading to the steady state is usually called a "stable path" since by proceeding
along it, the model eventually attains the steady state. The stable path plays a crucial role in the
dynamic behavior of the economy. As will be discussed in section (3.3), in most models it will be
unique. That is, it associates a single valug with each value of the capital stock. Moreover, if
the economy starts at some point on the stable path, as time passes it will remain on the path and
move closer to the steady state. At the same time, if the economy starts somewhere off the stable
path, it never attains the steady state. Together, these properties mean that if the system is to
attain the steady state from an arbitrary initial capital stock, there will be a unique value of
associated with that stock. That is, the marginal value of an additional unit of capital is unique at
any particular capital stock. The essence of dynamic modeling is to determine the stable path,
and hence, correctly.

At this point, the phase diagram is complete. It shows the dynamic behavior of the system
at any point 4,K), given the model's parameters and the expected values of the exogenous vari-
ables. The next step will be to use the phase diagram to determine what happens when new infor-
mation arrives that causes investors to change their expectations of future variables. Such infor-
mation might be a government announcement about future tax rates, a new discovery by the firm
that will lower its costs, a change in the regulatory structure, or any number of other events.
Before analyzing any shocks, however, we will digress briefly to discuss a very important
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property of models: uniqueness of the stable path.

3.3 Saddle Path Stability and Uniqueness

At least near the steady state, most interesting economic models possess a characteristic
known as "saddle path stability” which guarantees uniqueness of the stable path. This uniqueness
turns out to be essential in many models because it allows the transversality condition discussed
in section (2) to be used to tie down the value of the firm at some point in the future. If there
were many paths leading to the steady state, the transversality condition alone would not be
enough to determine the value of the firm at an earlier point in time.

To understand the role of the transversality condition more deeply, and to see why it is
important that the stable path be unique, it is useful to think about exactly what the equations of
motion tell us. As a group, they describe how the model would evolve from any particular point
in the (1, K) plane, given an underlying information €&t. Thus, if we knew where the system
was at a particular moment, and no news had occurred to ckangke equations of motion
would tell us where the system was going next. However, at the instant that new information
arrives, investors may change their expectations about the firm’s prospects. If theyvilo,
change discontinuously from its value under the old information seti(gaf;) to a figure
appropriate given the new information, s¥y; Q,). As a practical matter, this behavior is very
familiar since it occurs in the stock market every day. When a company unexpectedly announces
an innovative new product, for example, its stock market value (and normally its marginal value
of new capital) jumps upward. The path/btip to the instant that news arrives provides essen-
tially no guidance about whatwill be just after a shock. Moreover, the size of the jump cannot
be determined from the equations of motion alone; an additional piece of information is needed.
Formally, one of the problem’s boundary conditions is missing.

Boundary conditions are special requirements imposed on the solution in order to make it
satisfy certain facts known about the model. For example, we might require the solution path to
begin at the existing capital stock. The role of boundary conditions is to determine the constants
of integration that arise in solving (integrating) the model's equations of motion. If the model
consists of two differential equations, for example, two constants of integration will appear and
two boundary conditions will be needed. Sometimes these conditions can be derived from fairly
obvious facts. In particular, since state variables, such as the capital stock, do not change discon-
tinuously, their values should not change at the instant of the shock. Since the initial post-shock
values of state variables should be exactly equal to their values just before the shock, the pre-
shock values of state variables provide some of the needed boundary conditions.

Unfortunately, state variables alone do not provide enough information. In the investment
model, for instance, two boundary conditions are required but there is only one state variable.
Since costate variables such /agan change discontinuously when news arrives, their values
before the shock provide no information about the condition of the model just after the shock. In
technical terms, the initial condition fdris unknown, so we must look for another fact to use for
the second boundary condition.
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One possibility is to impose something on the long run behavior of the model. We may not
know the initial value ofi, but we might be willing to assume that in the long iumill eventu-
ally approach its steady state value. Technically, this is another transversality condition like the
one used at the beginning of section (2). (In fact, it is actually the same condition slightly dis-
guised.) If the stable path is unique, transversality conditions can be used to provide the missing
boundary conditions. On the other hand, transversality conditions are inadequate when there are
several stable paths leading to the steady state — steady state properties alone cannot determine
which stable path the model will follow. Thus, uniqueness of the stable path is a very important
property of a model because it allows information about the steady state to be used to determine
some of the model’s integration constants. If the stable path is unique, there will be a single post-
shock value for each costate variable, so it is possible to determine exactly which dynamic path
the system will follow after a shock.

All models discussed in here, and virtually all rational expectations models appearing in the
literature, have unique stable paths. Showing that a particular model has this property is a fairly
technical exercise in linear algebra and differential equations. In the remainder of this section we
sketch how it can be done, but the material is not needed to understand the rest of the paper. If
you are not comfortable with differential equations, we suggest you skip to section (3.4).

Saddle path stability holds when the linear form of the model has eigenvalues that are dis-
tinct, nonzero and of mixed sighHence, to check whether a model has a unique stable path we
must solve for its eigenvalues. Suppose the model is a system of first order differential equations
that can be written in the form:

X'=Ax+b, (3.8)

wherex is a vector of variables whose time derivatives are giver' b is a matrix and is a

vector (bothA andb may be functions of time). The eigenvalues we require are those of matrix
A. Thus, to see if the model of section (2) has a unigue stable path, we would write equations
(2.35) and (2.36) as shown:

0 O
g1 1 0 oo, AT (3.9)
U

Oy 0
O -
x5 ~S KD [ =Py

The eigenvalues of this expression ared and-4J, which are distinct, nonzero and have mixed
signs. The model in section (2), therefore, has the saddle path property.

2WH(1 Td)

To see why the eigenvalues are so important, consider solving (3.8) near the steady state (so
that A andb are essentially constant). The first step is to look for a solution to the homogeneous
form of the problem in whicb is zero:

22. Strictly speaking, these are sufficient conditions for saddle path stability. For a review of the properties of eigenvalues, or of lin-
ear algebra in general, see Strang (1980). In this context, we are using "linear" in the differential equations sense only.
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X' = AX. (3.10)

If all of the eigenvalues oA are distinct and nonzero, then any vect@an be written as a linear
combination of the eigenvectors Af Thus, ifl" is a matrix whose columns are the eigenvectors,
the following must be true:

x=TIc, (3.11)

wherec is a vector of coefficients. Sindeis constant near the steady state (bec@uisecon-
stant), differentiating (3.11) with respect to time gives the following:

X =rc . (3.12)
Substituting (3.11) and (3.12) into (3.10) gives:
fc=Ac. (3.13)
However, sincd is composed of the eigenvectorsAfit must be the case that:
Al =Ty, (3.14)

wherey is a diagonal matrix of eigenvalues. Inserting (3.14) into (3.13) and multiplying through
by the inverse off produces the following:

c' =yc. (3.15)

Thus, the original differential equation can be transformed into (3.15), which is much easier
to solve:y is diagonal, so (3.15) is nothing more than a collection of unrelated differential equa-
tions, each of which can be solved by the method of integrating factors. The solution to (3.15) is:

c=e"'0y, (3.16)
wherey is a vector of integration constaitdrom (3.11), this means thatas the solution:
x=Tre’' . (3.17)

The complete solution to the original equation (3.8) is the sum of (3.17), which solves the homo-
geneous equation, and a particular solution to (3.8), such as the steady state. Thus, a final

23. In case this notation is unfamiliar, a scalar raised to a matrix power is a matrix whose elements are the scalar raised to the power
of each element of the original matrix.
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expression fox is the following:
x=Te’' [y + x°5. (3.18)

Equation (3.18) allows us to infer a great deal about the behavior of the solution from the
eigenvalues alone. For example, if all the eigenvalues had positive real parts, then the model
would only converge ta*® if every element of were zero. A model whose eigenvalues were all
positive, therefore, could only reach the steady state if it started out there initially. For this rea-
son, such models are said to be "unstable”. On the other hand, if the eigenvalues all had negative
real parts, the solution would converge to the steady state from any starting vector. This comes
about because the first term on the left in (3.18) will always approach zero as time tends to infin-
ity when the eigenvalues are negative. Models with this property are said to be "globally stable".

Many economic models, however, have a mixture of positive and negative eigenvalues.
Since they are neither unstable nor globally stable, such models are often said to be "saddle-path
stable". At the most fundamental level, saddle-path stability means that a model will converge to
its steady state from some initial vectors but not from others. In a sense, this is intermediate
between the unstable and globally stable cases: an unstable model will only reach the steady state
from a single point — the steady state itself — while a globally stable model will get there from any
starting point. Saddle path models are in between: they converge to the steady state from some,
but not all, of the possible initial vectors.

To put this more formally, supposeis a vector of lengtimin R". If all the eigenvalues are
distinct, there will ben of them. In general, ifn of the eigenvalues have negative real parts, the
model will converge to the steady state fromnadimensional subspace Bf'. If, for example,
all n eigenvalues are positiven(= 0), the model will converge to the steady state from a sub-
space of dimension 0 — a single point. This is the unstable case discussed aboveeitjealt
values are negativen(= n), the steady state can be reached from any poiRt'rso the model
will be globally stable. However, if there ane negative eigenvalues, where i< n, the sys-
tem can reach the steady state frommadimensional subspace &". In practical terms, this
means that if we want the system to converge to the steady state, we can onlyncal@msents
of x independently — the other— m terms will be implied by the model.

This property of saddle path models is very useful because we usually do not know the ini-
tial values of all elements of vectar In the model of section (2), for example, we do not know
the value ofd immediately after a shock. Since the model is saddle-path stable, however, we
know that it can only attain the steady state from certgild)(pairs. Furthermore, because one
of the model’s two eigenvalues is negative, we know that if we choose a value foraemhi€r,
the value of the other will be implied. Thus, knowing the initial valu @nd requiring that the
model eventually attain the steady state is enough, in principle, to let us calculate the nalue of
As we will discuss in section (4), however, computingsually requires numerical integration.

In summary, checking that a particular model has a unique stable path requires computing
the model’s eigenvalues and verifying that they are distinct, nonzero and of mixed sign. If the
stable path is unique, however, it allows features of the steady state to be imposed on the solution
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as boundary conditions. For models with foresight, this is often essential.

3.4 Analyzing an Experiment

Once the phase diagram is complete it can be used to analyze the effects of changes in the
exogenous variables. As we will show, the phase diagram is a very powerful tool: it provides a
complete qualitative description of the effects of a shock. The only thing it does not provide, of
course, is a set of numerical results for the variables. Sometimes numerical results are necessary,
so we will discuss numerical analysis in section (4). Keep in mind, however, that all of the quali-
tative features of the solution will be revealed by the phase diagram.

Before going into the details of analyzing experiments it is useful to consider what sorts of
shocks can be studied with an intertemporal model. In a static model a shock consists of a single
change in an exogenous variable. A tax rate, for example, might rise. In intertemporal modeling,
however, the entire path of the tax rate over time matters. This makes it convenient to group
experiments into four categories depending on: (1) whether the shock is permanent or temporary,
and (2) whether the change is announced in advance or implemented immediately. One of the
most interesting features of intertemporal modeling is that a given shock can have substantially
different effects depending on how it is enacted over time. A temporary tax increase, for exam-
ple, can produce effects that are completely different from the permanent version of the same pol-

icy.

These distinctions between policies mean that each shock has (at least implicitly) three
dates associated with it: its announcement, its implementation, and its repeal. The announcement
date is the time at which the public first becomes aware of the policy. It is often quite a bit earlier
than the date of implementation, which is the time at which the policy (and the relevant exoge-
nous variable) actually changes. Temporary policies also have a repeal date, at which the shock
ceases and the exogenous variables return to their original values.

All four categories of experiment can be analyzed using phase diagrams. A natural place to
start is with immediate, permanent changes in policy. The first step in using the phase plane is to
determine how the shock affects the zero-derivative loci. Most shocks will shift one or both of
the loci, resulting in a new steady state. The second step is to find the new stable path. Usually
this will be straightforward once the new loci have been found. At this point, the post-shock
phase diagram is complete. It governs the motion of the system when all of the exogenous vari-
ables have their post-shock values. Thus, the overall diagram consists of two superimposed phase
planes: one which applies when the exogenous variables have their initial values, and one which
applies after the shock.

The remaining step is to trace out the motion of the system over time. At the instant the
policy is implemented, which in this case is immediately, the state variables (K in the example
above) are fixed and cannot change. This means that if the economy is ever to get to the new
steady state, the costate variables must immediately jump to the new stable path. Once on the sta-
ble path, the economy evolves over time toward the steady state. In the phase diagram this will
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appear as a vertical jump in the costate variable, followed by gradual movement along the new
stable path.

To make this discussion more concrete we will now show how an immediate, permanent
increase in the dividend tax in the model of section (3) could be analyzed. First, consider what
happens to th' locus. For convenience, equation (2.35) is repeated below:

A'=(r+8)A - B(P)1-T9). (2.35)

As TY rises, the rightmost term in equation (2.35) becomes closer to zera! aremain zero,
therefore,A must fall. Thus, ther’ =0 locus must shift downward. The new location of the
locus can be found by solving for the new steady state valde @6 find the effect of the tax
increase on th&' = 0 locus, we begin with equation (2.36), repeated below:

A Py
= 7 _sK-_K 2,
2we(1 - Td) d 2wé (2.36)

[

The increase i causes the leftmost term on the right hand side to riseK Ftar remain zero
at constantl, K must rise. Thus, th&' =0 locus shifts to the right. The result of shifting both
loci is shown in figure 3.4.

The location of the new steady state can be found by settingd K' equal to zero and
solving for A and K in equations (2.35) and (2.36), using the new values of the exogenous vari-
ables. In this model, the dividend tax has a particularly interesting effect: it does not change the
steady state value of the capital stock. This can be verified by solving®fdnserting it into
equation (2.36), and solving fd¢®°. The dividend tax cancels out, so it has no effect on the

steady state capital stock. After a moment's thought the intuition behind this result i €lesar:

a pure profits tax which does not affect any margins. An increase in the tax lowers the post-tax
dividends that firms can pay, dofalls, but it does not affect the optimal level of investment, so
the capital stock is unchanged.

For this policy it is easy to trace out the motion of the system over time. When the tax rises,
A jumps down to the new stable path. However, the capital stock is already at its steady state
level, so the jump in brings the model instantly to the new steady state. Thus, the only change
in the system is an immediate drop/inthe capital stock and investment are completely unaf-
fected. This path is shown in figure 3.5 by a grey line.

Interestingly, the results are quite different when the shock is anticipated. Suppose that
instead of implementing the tax increase immediately, the government announces that it will
occur after three years. The initial and final steady states are exactly the same as in the previous
case, so the basic phase diagram is the same as figure 3.4. The path of the model over time, how-
ever, is more complicated because the policy change does not occur immediately.
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When the policy is announcedl falls part of the way toward its new steady state value, but
not as far as it would if the policy took effect immediately. It stays higher initially because the
dividend tax stays at its old value for three years, so dividends paid during that time will not be
taxed any more heavily than they were before. Howevelpes drop below its original value
because the firm will eventually pay lower dividends.

After the initial drop inA, the system evolves according to the equations of motion associ-
ated with the original steady state. These equations apply because they depend only on current
tax rates and none of the taxes have actually changed yet. Thus, the system moves down and to
the left. It continues to move in that direction until the tax change occurs in year three. At that
time, the model becomes governed by the new equations of motion. These have the same form as

the original equations, but differ in that they are evaluated at the new valtfe @ince the

model is required to attain the steady state eventually, it must be on the new stable path when the
tax is implemented in year three. After year three, the system evolves along the stable path
toward the new steady state. The path of the model is shown in figure 3.6.

Notice that figure 3.6 shows no jump inat the instant when the tax is implemented.
Instead,A evolves smoothly and reaches the new stable path precisely at the moment of imple-
mentation without jumping. This reflects an important feature of intertemporal models with per-
fect foresight: there are no windfall gains or losses fronintiptementatiorof anticipated poli-
cies. There can be windfalls associated withahrouncemendf a policy--in this example}
falls at the announcement--but there are no windfalls from events that have been anticipated.

This point can be understood intuitively by thinking about what happeas&ar imple-
mentation. Recall from equation (2.23) thiais the present value of the after tax earnings of a
marginal unit of capital. Once the tax has actually increased, all subsequent earnings are evalu-
ated at the new rate. Shortly before implementation, however, the value of an extra unit of capital
is what it will earn after implementation plus a small amount more obtained before the tax
change. As time becomes closer and closer to implementation, the extra amount of earnings
becomes smaller and smaller,/sapproaches its post implementation value smoothly.

It is straightforward to demonstrate this mathematically. Let the time of implementation be
r and the value ofi at that point bei(r). Now consider the value of at an instanA before
implementation. Equation (2.23) can be written:

T

oE
At =A) = J’ ok (- ThHe (+ET-8) ds+ A (r)e (A (3.19)
-A

As A approaches zerd,(r — A) approached (7). Thus,A must be continuous at implementation

and cannot jump. Notice that this argument does not depend on features of the model such as the
form of the earnings or investment cost function. It is a very general property of perfect foresight
models.
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Figure 3.6 shows something very striking: the capital stock falls during the period between
announcement and implementation of the policy. This occurs because firms respond to the policy
by paying higher dividends before implementation while the dividend tax is low. Higher divi-
dends limit investment and drive down the capital stock. Once the tax is in place, however,
investment returns to normal and dividends drop. Since the capital stock was driven down,
restoring the normal level of investment causes the amount of capital to rise. This, in turn, causes
the value of the firm to increase and allows investors to receive part of their return as capital
gains?* Since the capital gains tax is unchanged (and zero), investors benefit from shifting part of
their return from heavily taxed dividends to lightly taxed capital gains.

The difference between implementing the dividend tax increase immediately and announc-
ing the change in advance highlights one of the most interesting aspects of intertemporal model-
ing. There is no way that the adverse effect of the announced policy on the capital stock could
have been discovered using a static model. This kind of unexpected result arises frequently in the
analysis of announced policies, and also in the study of temporary policies. Since it is rare for
shocks to the economy to come as a complete surprise, explicit modeling and analysis of
announcement effects is essential to understanding the impact of government policy and the con-
sequences of other kinds of shocks.

We hope this discussion has demonstrated the value of phase plane analysis in the study of
intertemporal models. All qualitative features of the model's response to any shock can be
obtained using the phase plane. The only details it does not provide are the coordinates of partic-
ular points in the plane. We might want to know, for example, exactly hoxvifatially drops in
figure 3.6, or exactly how much the capital stock has fallen by implementation of the tax increase.
To obtain these values it is necessary to find an explicit solution to the model using numerical
methods.

4 Numerical Methods

To solve the model numerically, we must obtain explicit numerical paths for the dynamic
variables 4 andK) throughout time. Once these are known, the paths of other variables can be
found easily by applying equations from the model. For example, in section (2) investment can
be calculated fromh using equation (2.34). This means that finding a numerical solution to the
model boils down to solving the model’s equations of motion. These are a set of simultaneous
differential equations, so solving them requires some form of numerical integration.

If the initial values ofA andK were known, it would be easy to integrate (2.35) and (2.36).
Differential equations for which all boundary conditions are known at the initial point in time are
called initial value problems, and there are many methods available to solv& thesimple,
intuitive approach is Euler’s method, which works in the following #idyet the first instant

24. Refer to the arbitrage condition shown in equation (2.1).

25. There is an enormous range of methods available for solving initial value problems. For more information consitlaPress,
(1986).

26. Although it is intuitively appealing, Euler's method is not usually satisfactory in practice. For a complete discussion, refer to
Presset al.(1986).
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after the shock be called time 0. Afand K were known to take valueg andK, att =0, those
values could be used in (2.35) and (2.36) to calculld® andK'(0). Multiplying the deriva-
tives by a tiny increment of time, say, would show approximately how muahandK changed
over that interval. Adding these changesigoand Ky would give approximate values farand
K at timeAt. These could then be used in (2.35) and (2.36) to oltét) and K'(At). By
applying this process repeatedly, the entire future paghaoid K could be calculated. Moreover,
the solution could be made arbitrarily accurate by making the stefitssedficiently small.

Unfortunately, the initial post-shock values of any costate variables in the model (such as
above) will usually be unknow.This leaves the model without enough boundary conditions to
determine the solution uniquely. To understand this intuitively, recall the phase diagram in figure
3.6. If A(0) is not known, there is no way to determine where the system will be immediately
after the shock, except that it will be somewhere in the vertical line of points &l{oye Since
different points abové& (0) lead to drastically different paths of the economy over time, the solu-
tion is not completely determined.

Fortunately, this indeterminacy can be eliminated for models having the saddle path prop-
erty discussed in section (3.3). Any absent initial conditions can be replaced by conditions on the
long run behavior of the costate variables. Typically this is accomplished by imposing transver-
sality conditions which require the costate variables to approach their steady state values as time
tends to infinity. These replace the missing initial conditions and allow the solution to be
uniquely determined. This produces a system, however, in which some of the boundary condi-
tions hold at the initial time, and some at the steady state. When the boundary conditions are
scattered among several points in time, the system is formally described as a "two-point boundary
value problem", and it cannot be solved using techniques for initial value problems.

In fact, two-point boundary value problems are much harder to solve than their initial value
counterparts, and require special numerical methods. The next few sections describe some of
these methods and how they perform for economic models. To keep the discussion concise and
fairly concrete, we will focus on models that have a single costate variable, such as the model in
section (2). However, all of the methods can be extended without difficulty to handle multiple
costate variables.

4.1 Shooting

One intuitive way to solve a two-point boundary value problem would be to guess the miss-
ing initial condition, integrate the system forward as though it were an initial value problem, and
check whether the transversality condition was satisfied. If it was not, the guessed condition
could be revised and the entire process repeated. Eventually an initial condition would be found
which led to the steady state when the system was integrated forward. This approach has been
used extensively in engineering and the physical sciences, and is known as "skboting".

27. By this we mean that the costate variables may jump initially, taking on new values which cannot be determined without solving
the entire model.

28. Shooting is described in Pressal.(1986), Roberts and Shipman (1972), and in most textbooks on numerical analysis.
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In practice, shooting is usually implemented in the following way. Let the missing initial
condition be denoted,. For each guess ofy, the model is integrated forward using Euler’s
method to a large but finite timle This generates &(T) which we will refer to as an "achieved"
value and denot@§. Next, the transversality condition is tested by compaifhgyith its steady
state valuer®32° For convenience, we can define a functMnwhich measures how close the
solution is to the steady state:

M(Ao) = A7(40) = 2%%. (4.1)

Since the achieved value #fat T depends on the guess Af, both A3 and M are written as
functions of15. When a guess ofy has been found for whichl less than a specified tolerance,
a solution has been obtained.

Defining M as in (4.1) makes it clear that the object of shooting is to choose a valge of
that setsM to zero. This suggests using Newton’s method to update the guess at each iteration.
At iterationk + 1, a first-order Taylor series expansionhdfabout the previous guesi% for a

trial solutionA§™ gives:

dM(A5)
da

M(A§™) = M(A§) + (A6 = 6) . (4.2)

Assuming thatz\é*l is indeed a squtioHVI()I'é*l) can be set to zero. This allows the equation to

be rearranged as shown:

M(A§)

dM(A§)/dA (4.3)

=25 -

Thus, by evaluating both! and its first derivative at§, a revised guess @f can be constructed.

Unfortunately, in economic applications shooting suffers from severe numerical instability
and can rarely be used. Small errors made in the initial guess of the missing costate variable lead
to intertemporal paths that move far from the steady state after only a few years. The model of
section (2) provides a typical example of why this problem occurs. Recall equation (2.35), one of
the model’s equations of motion:

A'=(r+8)A - B(P)(1-T9). (2.35)

If the true post-shock value af, is inserted on the right side of the equation, the true value of
A'(0) can be calculated and the system integrated forward toward the steady state. On the other
hand, consider what happens if the guesk,a$ too high. Evaluating (2.35) would give a value

29. The value ofti*®is calculated in advance using the approach discussed in section (3.1).
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of A’ that was also above its true value. Thug, starts out too high, it will grow too fast as well.
As it grows, A’ increases, s@ moves farther and farther away from the stable path.

In fact, for the model of section (2) the erroringrows exponentially over time at rate
r +9. Thus, if the initial guess of is too high byA, after T years the error will have grown to
Ae"*)T which could be a gigantic numb¥rFor example, if the interest rate were 5 percent and
depreciation rate 10 percent, after 100 years the errarviould exceedA x 10%°. A similar
problem arises if the initial guess afis too small. This means that a small error in the initial
guess oft will set the model on a dynamic path that leads far from the steady state. In the termi-
nology introduced abovéd will be huge for even very small errorsig. This sensitivity makes
shooting very vulnerable to the rounding errors introduced by computer programs and prevents it
from being useful for most economic models.

4.2 Multiple Shooting

Multiple shooting is a refinement of simple shooting that helps control models with explo-
sive tendencie¥ The full period over which the model is to be solved is divided into a number
of subintervals and the model is then shot over each. Shooting over shorter periods keeps the
model from drifting too far from the stable path in any one interval. This limits the numerical
damage done by rounding errors, so multiple shooting can be used with economic models. How-
ever, using more intervals means that rather than searching for a single missing initial condition,
the algorithm must find a vector of such conditions spread out across time.

As a example of how multiple shooting is used, consider solving the investment model over
two adjoining intervals: [&;] and [r, T]. The first step is to guess what valuewiill take at O
andr. Like simple shooting, multiple shooting is an iterative procedure, so let the guesses at iter-

ation k be denoted by\é and/\‘,‘. The next step is to integrate the model forward from 0 to
starting at the known initial capital stodkg, and the gues$('§. This produces a pair of achieved

values ofK(r) and A(r) which we will denote byk? and A2. Using K2 and A as initial condi-
tions, the model is then integrated forward frorto T. From this, an achieved value bfat T
will be obtained.

The key feature of multiple shooting is that the integration avdr][starts from the guess

A%, and not fromA2, the achieved value from the first integration. Starting from the achieved
value of A would be exactly the same as integrating the model ovdi],[@vhich is ordinary

shooting. When the guess m@ is incorrect, however} will have drifted very far from its true
value by timer. This makesi? a terrible estimate of whait should actually be at, so replacing
it with a guessed value — even a bad guess - vastly reduces the error in the second integration.

To see this intuitively, recall the example of error propagation described in section (4.1):
after T years, an initial erroA had compounded to a miss distancenef *T. Dividing the

30. The error’s growth rate is given by the model’s positive eigenvalti@); see section (3.3).
31. Multiple shooting was introduced to economics by Liptdral. (1982), but has a long history of use in other disciplines. It is
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period [0,T] into two subintervals of equal length reduces the problem enormously. Ar\@rror

the guess ofy only grows taAe"*9)7/2 by the end of the first interval, which is the square root of

its previous value. Of course this reduction comes at a cost: a guésisfalso required at the
beginning of the second interval. Assuming that another error of the ofdés ofade in the sec-

ond guess/ will miss its steady state value Bye*9T2, Thus, dividing the interval into two

equal parts reduces the total miss distavice roughly M2 WhenM is large, this will be an
enormous improvement. Moreover, the number of subintervals is not limited to two. Using more
subintervals reduces the error propagation problem even further, so any explosive tendencies of
the model can be completely controlled.

Since the costate variable has to be guessed at the beginning of each interval, the revision
rule used to generate new guesses at each iteration is slightly more complicated than the one used
for simple shooting. In the case of two subintervals, the guesdamfthe beginning of the sec-
ond interval A, would be revised untiM, in following equation became zero:

M2(Ao, A;) = AF(A0, A;) = A% (4.4)

As with ordinary shootingM, is a miss distance. The subscript 2 has been added to indicate that
it is the miss distance for the second interval. Just as in shobtingnd A3 both depend on,,

the guess ofi at the beginning of the interval. However, they now also depend on an darlier
Ao- This occurs becausk) affectsK,, the starting capital stock for the second interval.

A second rule is needed to guide revisiomgf Since the model will not necessarily have
reached the steady state bytrying to reduceM, in (4.4) to zero would be inappropriate.
Instead A is revised untilM, in the expression below becomes zero:

Ml(/‘Oa/‘r):/\?_/]r . (45)

That is, Ag is varied until a value is found that can be integrated forward to attain the starting
guess ofl for the next interval. As a result, when the correct valug, dias been found (so that

M, in (4.4) is zero), a value dfy that makedM, in (4.5) zero must be the true initial valuejof

if it were inserted into the model’s equations of motion, the system could be integrated forward to
time T and the transversality condition would be satisfied.

Thus, dividing the original period into two subintervals means that two variahjeand
A,) must now be chosen to satisfy two equatidvig € 0 andM, = 0). This suggests using the
multivariate version of Newton’s method to compute an updated vector of guesses at each step of
the algorithm. IfAX is the vector of guesses at iteratlarthen a new guess could be constructed
as follows:

A=k~ 37IMK) (4.6)

described clearly and in detail in Roberts and Shipman (1972).
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where J is the Jacobian matrix of partial derivativesMfevaluated atn® and A¥ itself is the
guess ofi at iterationk. Equation (4.6) can be used with any number of shooting intervals, and
with multiple costate variables, so multiple shooting is a fairly robust and versatile algorithm.

Unfortunately, it also consumes a great deal of computer time. Moreover, like all algo-
rithms based on Newton’s method, multiple shooting is not guaranteed to converge. Worse yet, it
is particularly unsuitable for intertemporal general equilibrium models because it requires solving
the intraperiod part of the model thousands of times in the course of finding a full intertemporal
solution®? A single intraperiod equilibrium solution requires solving a static short run general
equilibrium model, which for even moderate sized models will require a noticeable amount of
computer time. Having to compute hundreds or thousands of these solutions makes multiple
shooting of very limited use for general equilibrium work.

4.3 The Fair-Taylor Method

A third method for solving two-point boundary value problems, and one which is often used
for intertemporal general equilibrium models, is known as the Fair-Taylor algorithm after its
originators® It is much easier to use than multiple shooting, controls explosive tendencies in the
solution equally well, and requires somewhat less computer time.

The algorithm itself is very simple. First, a guess is made of the entire path of the unknown
costate variable. That is, instead of guessing a sihgle in shooting, or a handful afs as in
multiple shooting, values of are guessed for each point in the f&tl,...T}. For conve-
nience, let the guess at iteratibe denoted by the vectaf. If T is chosen to be year 100
will usually have 101 elements (the extra one is for year Z&fithe final element is always cho-
sen to satisfy the transversality condition. Usitfgand the equation of motion of the capital
stock, the model is integrated forward from the initial point to the terminal time. During this pro-
cess, the costate variable’s equation of motion is temporarily ignored. The result is a vector of the
capital stocksK X for iterationk, that is consistent with®. It is the path the economy would fol-
low if A actually had the sequence of valuesd fn However, it is not necessarily a solution to the
model becausg, does not necessarily satisfis equation of motion. This means the algorithm
must iterate over vectossuntil one is found that satisfies both equations of motion.

Revising the guess vector between iterations is accomplished by using the equation of
motion for A in a special way. The technique can best be explained by example, so consider a

32. Thousands of intratemporal solutions are needed because each iteration of the algorithm requires solving every period in the
time interval several times. If the model is to be solved over [0,100], for example, 101 intraperiod solutions are required just to
integrate the path forward from 0 Toonce. Much worse, however, is that the Jacobian matrix will usually have to be com-
puted numerically. That requires perturbing each of the elemenitsanfl computing an entire solution path from QTtollf,
for example, there are five shooting intervals, the entire path of 101 intratemporal solutions would have to be computed six
times in order to evaluat®¥! and J. Since over 600 intraperiod solutions would have to be found for a single iteration of the
intertemporal algorithm, the method is not useful for more than very small models.

33. The Fair-Taylor algorithm was originally proposed by Fair (1979), and later extended by Fair and Taylor (1983). This section
describes Fair and Taylor’s “type II" iteration. They also proposed a "type IlI" procedure which can be used when the terminal
condition cannot be computed easily.

34. Simulating periods one year apart is not necessary for the Fair-Taylor algorithm to work. However, it is the most common
approach.
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slightly more general version of the model introduced in section (2). There will be one state vari-
able K), one costate variablel), a vector of exogenous variableg),(and two equations of
motion, one iK' and one iM’. The equation of motion fot will have the following form:

/]'t = f(At, Kt, Zt) , (47)

where f is a function that depends on the structure of the model. Equation (2.35), for example, is
a special case of (4.7) in which a particular functional form has been imposedTioe deriva-
tive of A at timet can be approximated by the difference between two consecutive valé® of

/"t = /‘t+l - AT . (48)
Inserting this into (4.7) produces the equation below:
A = A= T4, K, Zy) (4.9)

This expression holds at all points along the path.oRearranging it slightly and dropping the
implied error terms produces the following:

M =21~ T2 Ke, Zy) (4.10)

Equation (4.10) must hold at all points along the solution path so it suggests a revision rule
for guesses ofi. By inserting values ofi;,1, A; and K from iterationk into the right side of
(4.10), an implied value of; could be calculated. To use the terminology introduced in section
(4), an achieved valug could be computed as shown:

A= 2a — FOASKE ZY) (4.11)

At the solution A2 will be exactly equal tal{ because the solution vector must satisyequa-

tion of motion by definition. Away from the solution, howevaf, will not be the same a&X.
The Fair-Taylor algorithm use¥' to update the guess #f in the following way:

M =g ak+ (1-0)A2, (4.12)

wherea is a parameter used to ensure the algorithm converges smoothly. Its takes on values in
the interval [0, 1] and is typically around one-h#lIf.

35. There are a number of ways to approximate the derivative of a function at a point, but this formulation is particularly convenient
for this algorithm. For further details, refer to exercise E7.

36. Choosingr carefully is fairly important. It is not a good idea to makéoo close to one because that puts undue emphasis on
A, which is not necessarily closer to the true solution tﬂénThat is, the true value of; may lie betweem{‘ andAg, but be
much closer to\{< thanA?. In that caseg = 1 would tend to make the algorithm diverge. On the other hamdisftoo close
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Thus, for a simple investment model the algorithm would be applied in the following way.
Given a guess of the path bfthe first step would be to compute the corresponding pathhgf
integrating forward from the initial point. Next, using the guess ahd the resulting path &,
construct a sequence of achieved valifesFinally, create a new guess by taking a convex com-
bination of the old guess and the achieved values. The solution has been obtained when the guess
and achieved values differ by less than a given tolerance.

On the surface, this technique seems to differ quite a bit from multiple shooting. At a
deeper level, however, the algorithms are very similar. Multiple shooting proceeds by guessing
at a handful of points, integrating forward, and employing a fairly sophisticated updating rule.
Fair-Taylor works by guessing at a vast number of points, integrating forward, and using a very
simple updating rule. In a sense, the Fair-Taylor algorithm is a version of multiple shooting in
which there ard shooting intervals—one for each year of the solution. It can, however, be some-
what faster than multiple shooting because it does not require computing the Jacobian matrix of
the miss distances at each iteration. In practice, this means that Fair-Taylor will require more iter-
ations to converge than multiple shooting, but each iteration will be much faster to compute.

4 .4 Finite Differences

A fourth approach to solving two-point boundary value problems is the finite difference
method® It differs from the three previous algorithms because it does not operate by guessing
the missing costate variable and integrating forward to see if the transversality condition is satis-
fied. Instead, a system of overlapping difference equations is constructed which approximates the
model’s equations of motion. This system is then solved simultaneously to give the paths of the
model’s dynamic variables. The initial and terminal conditions will both be satisfied exactly, and
the algorithm is completely immune to the numerical instability that plagues shooting methods.
In addition, since finite differences is not iterative, it will always find a solution if one exists: it
will never fail to convergé®

The first step in using finite differences is to replace all of the derivatives in the model by
finite difference formulae. These formulae are local approximations to derivatives, and are con-
structed in a straightforward way from Taylor series expansions. For example, one approxima-
tion for a first derivative might be constructed as follows. First, expand the function of interest
about a particular timefor an adjacent time+ h:

f(t+h) = f(t) + f'(t)h + O(h?) , (4.13)

where O(h?) represents the Taylor series terms of oftfeand above. Rearranging (4.13) and
dropping the higher-order terms shows that:

to zero, the algorithm will converge very slowly.

37. Finite differences is a standard method in engineering and physics. It was first applied to economic models by Wilcoxen
(1985a).

38. Strictly speaking, finite differences is not iterative in the sense that multiple shooting iterates over guesses of the costate vari-
able. It may, however, require iteration to solve the difference equations if they are nonlinear.
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ft+h)-f®

fr(t) = .

(4.14)

The term on the right is a finite difference approximation to the derivativecohluated at time

t. Since it was constructed using current and future valuds ibfs technically known as a for-

ward difference. Dividing through bl reduced the terms that were droppeddt), so the
approximation itself will be accurate to that oréfeFhis means that if (4.14) were used to replace

a derivative, the resulting equation would be accurate only wheas fairly small. Thus, it is
inappropriate to use a single difference equation to approximate the original model over a long
period of time.

Long periods of time can, however, be modeled using a series of expressions like (4.14),
each holding over successive intervals of time. If the total period were 100 years, for example, it
could be broken up into two intervals of fifty years each. Then, one equation like (4.14) could
link years 0 to 50, while another connected years 50 to 100. Of course 50 years is still a very
large value forh, so it would usually be necessary to break the original interval up into even
smaller segments using many more equations. If necessary, the solution can be made arbitrarily
accurate by using a sufficiently small step dizeNo matter how many intervals are actually
used, in the end the original differential equation will have been replaced by a system of differ-
ence equations which link values bfat different points in time. Solving this system simultane-
ously would yield the entire path 6f For many models the equations will be linear or easily lin-
earized, so often the solution can be found using a variant of Gaussian elimination. This makes
finite differences very fast and a natural choice for use with general equilibrium models that
employ Johansen’s method.

To provide a more concrete example of how the method is actually implemented, consider
solving a fairly general investment model with equations of motion as shown below:

A(1) = a(t)A(t) + bOK () - () , (4.15)

K'(t) = d(t)A(t) + e(t)K () — F(t) . (4.16)

The model of section (2) is a special case of this in whi{th= 0. Converting (4.15) and (4.16)
into finite difference form using forward differences produces the following:

At +h) - A(D)

h = a(t)A(t) + b(t)K(t) — c(t) , (4.17)

K(t +h) - K(t)

- = d(t)A(t) + e(t)K (1) - f(t) . (4.18)

39. A number of other difference formulae will be discussed in exercise (E4), some of which are accurate to higher orders.



-30-

For convenience, equations (4.17) and (4.18) can be written in matrix notation as shown:

PO+ b0
o dm e+

L, A O

- K() O Let)d

h _ = . 4.19

o Lthe+nT Fol (4-19)
h (t+h)0O

This system approximates the true equations of motion, (4.15) and (4.16), in the neighborhood of
t. The complete solution requires a set of such equations, one for each intervaltof tnere
are N intervals, collecting the approximations together produces a set of equations with the struc-

ture below:
0 1 -1
Da(to)+ﬁ b(t%) o

1

2dt) )7 0
O h 1y, L
0 0 0 a(t )+E
O o 0 dtt
g (tH)
0
0

D]]A(tO)D OctY O
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b(th) =0 %((tl) 0-0 f(tl) 0 o (4.20)
e(th) +% o * O

h DDA(tN)D Eb(t“ 1)D
kMg H Vg

This is a system of R equations and & + 1) variables. However, two of the variables are
known from the model's boundary conditiort§(t®) and A(tN) (using A%° as the approximate
value of A(tN)). Moving the corresponding columns over to the right side of the equation and

simplifying produces:

1 -1

O
R += = 0
= h h 1
0 di®) 0 o

1
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o 1 h 1 1
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. 0 dt?) e(th) + H
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mXt) o g h 0
0 f (N 0

This direct use of the boundary conditions eliminates the need for iteration and removes the
numerical instability problem associated with shooting methods. Equation (4.21) can be written

compactly as:

OF =B, (4.22)
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where® is a matrix of coefficientd; is a vector of unknown values #fandK, andB is a vector
resulting from applying the boundary conditions. Solving the model requires finding the
unknown values oF , which can be accomplished by computffig:

F=07!B. (4.23)

Since approximations were used for derivatives in the model, the results obtained using
(4.23) will contain a certain amount of error. This is known as truncation error because it arises
from dropping high-order terms in the Taylor series expansions used to form the difference
approximations. For the difference formulae used above, the truncation error ®ilhpelt is
possible to construct formulae that are accurate to higher orders (see exercise (E7), for example),
but all will introduce some truncation error. The severity of the problem depends on the step size
h between adjacent points of the solution. The dates at which these points are placed are often
called a "net" or a "grid", and grid spacing is crucial to the numerical accuracy of finite difference
solutions.

As the distance between grid points approaches zero, a finite difference approximation con-
verges to the true solutidhso with enough grid points, the results can be made arbitrarily accu-
rate. However, the size @ goes up with the square of the number of points, and the steps
required to solve (4.23) rise even more rapidly. As a practical matter there will usually be a upper
limit on the number of grid points that can be used. For this reason, the grid must be chosen care-
fully to attain maximum accuracy at minimum cost.

Two features of the grid play key roles in determining the accuracy of the solution: the total
number of grid points used, and the location of those points in the inter¥dl T@, see why the
sheer number of grid points is important, consider solving a model over a uniform bridtef-
vals using difference formulae accurateQ). This would requireN + 1 grid points (the extra
one is for time 0) at a distanbeapart, wherdn is given by:

.
=, 4.24
h= o (4.24)

The resulting grid would have points at tinf€sh, 2h,---, (N -21)h, T}, and at each point the
solution would be subject to truncation error of or@¢éhn). In this situation, doublingN would

cut h in half and reduce the error at each point by roughly a factor of two. Thus, doubling the
density of the grid is a powerful tactic for reducing truncation error. Moreover, comparing solu-
tions on grids ofN and 2N intervals gives a good indication of the extent to which truncation
error has affected the results. Also, it is possible to use Richardson’s extraftatienploit

this fact to obtain even more accurate results.

40. In practice, the solution would never be computed using (4.23). Instead, Gaussian elimination would be applied to the system in
(4.22). Elimination is much faster than matrix inversion.

41. For a proof of this, see Isaacson and Keller (1966).
42. See Birkhoff and Rota (1969).
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Another way to reduce truncation error is to abandon using a uniform grid. It is often possi-
ble to make a solution much more accurate by rearranging the locations of the grid points in time.
This has the advantage of keeping the size of the problem fairly small. Intuitively, the way it
works is as follows. In certain periods of time, often late in the solution as the model nears the
steady state, the model's dynamic variables will be changing very slowly. Moving grid points
from these regions to periods where the variables are changing rapidly improves the finite differ-
ence approximation’s ability to capture the model’s true dynamic behavior.

In practice, shifting grid points around is an extremely powerful tool for improving the
accuracy of finite difference solutions. The reason behind this stems from the Taylor series
expansions used to construct the difference formulae. To see why, consider the Taylor series
expansion below:

n 2
f'"(t)e .

ftre)= 1)+ e+ —;

(4.25)

In forming the forward difference formula used above, the terms above first order were discarded.
This introduced the following error:

n 2
f(t)e .

> (4.26)

Ignoring higher-order terms, this means that on a uniform grid, truncation error would be highest
where f"" was largest. Similarly, the solution would be very accurate in regions whevnas

small. Thus, shifting points from regions of low curvature to regions of high curvature would
improve the solution by reducing overall truncation error.

Thus, there are two related techniques for reducing truncation error in finite difference solu-
tions. One approach is to increase the number of grid points used, thereby reducing the distance
between adjacent points and shrinking truncation error. When this is costly or inconvenient, a sec-
ond tactic is to place a given number of grid points at strategic times in the solution period. One
way to do this would be to transfer points from regions of low curvature to areas of high curva-
ture. Another approach would be to move points from uninteresting parts of the solution to peri-
ods of more interest. Most of the time, of course, these two reallocations will about the same.

Overall, the finite difference method is versatile, robust to numerical instability, fairly easy
to implement and very fast to solve. Furthermore, it is particularly suitable for Johansen-style
general equilibrium models because it results in a system of equations which can be integrated
directly into the Johansen solution procedtirgor these reasons, it was the method we chose to
solve the intertemporal general equilibrium model presented in the next few sections.

43.  We will return to this point in section (9). This approach to intertemporal general equilibrium modeling is due to Wilcoxen
(1987).
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5 An Intertemporal General Equilibrium Model

We now turn to the central topic of this paper: how intertemporal behavior can be included
in a general equilibrium model and what benefits that produces. As in the rest of the paper, we
will build the discussion around a particular model - in this case, a five sector general equilibrium
model with intertemporal investment. Subsequent sections describe the structure of the model,
explain how it was solved, and present a number of simulations showing how the inter- and
intratemporal parts of the model interact. The simulation results demonstrate two things: that
general equilibrium effects have a strong impact on investment behavior, and that changes in
investment brought about by intertemporal optimization have a significant effect on general equi-
librium variables. Thus, integrating intertemporal behavior into general equilibrium improves
both types of model. The remainder of this section presents an overview of the model.

The finished model consists of a sequence of short run general equilibrium models linked
together by an adjustment-cost investment model. All of the general equilibrium models have the
same structure, but each represents the economy at a different point in time. There are five sec-
tors of production denoted A, B, 1, 2, and 3. Sectors A, 1 and 2 produce consumption goods, sec-
tor B produces capital services, and sector 3 produces raw capital goods. There are two types of
capital, K, and K,,, and one type of labot,. K, is created by industry A's investment and is
used solely in the production of good K, is created by sector B’s investment and is rented out
to sectors 1, 2 and 3. Sectors 1, 2 and 3 are traditional general equilibrium industries which use a
malleable capital stock<(,) and do not do any investment. The sectors are shown schematically
in figure 5.1, and their attributes are summarized in table 5.1.

Table 5.1: Characteristics of the Sectors

Sector InvestsIn  Capital Used  Output Produced

A Ka Ka Consumption good A
B Kp - Ky, capital services
1 - Kp Consumption good 1
2 - Kp Consumption good 2
3 - Kp Raw capital goods

Sector A is fully integrated into both the general equilibrium and investment models. It
uses a capital stock that is specific to it and must solve both a short-run production and a long-run
investment problem. Sector B, however, operates more like a bank. It invests to build up a stock
of capital which it then rents out to other industries for use in production. Thus, sector B solves a
long-run investment problem but its short-run problem is trivial — it rents out whatever*ft has.
Between them, sectors A and B account for all of the investment in the model, so all investment
is the outcome of intertemporal optimization. Finally, sectors 1 and 2 are traditional zero-profit
industries which rent their capital from sector B and differ only in capital intensity. Both sectors

44. By requiring that sector B always rent out all of its capital we are ruling out monopolistic behavior on its part.
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produce consumption goods. Sector 3 is also a zero-profit industry which rents capital from sec-
tor B, but it makes raw capital goods. Separating it from the others facilitates experiments involv-
ing the price of raw capital goods.

The sectors were given these characteristics to emphasize that intertemporal behavior could
be added gradually to an existing general equilibrium model. Suppose a particular short-run
model had four sectors, all of which used a single capital good. The first step in adding intertem-
poral investment would be to include a fifth industry like sector B. That would allow the overall
capital stock to be determined by intertemporal optimization but without requiring the structure of
the existing four sectors to be changed in any way. Later, it might be useful to relax the assump-
tion that capital is freely mobile between sectors. This could be done by asserting that one or
more of the industries use industry-specific capital stocks. Each such sector would then have to
solve its own investment problem, and so would end up having the characteristics of sector A.
Thus, intertemporal behavior can be added to an existing model in stages; it is certainly not nec-
essary to rebuild the model completely.

Choosing the sectors to have the characteristics shown in table 5.1 resulted in the model
including two explicit intertemporal investment problems: one each for sectors A and B. These
were linked to a sequence of short-run general equilibrium models by a simple but flexible model
of expectations formation. This allowed simulations to be conducted under a variety of assump-
tions about the accuracy of expectations. In all, eleven general equilibrium models were used.
The first corresponded to the present while the eleventh was 100 years in the future. The exact
locations of the other equilibria in the interval [0, 100] will be discussed at length in section (9).
The next section presents the investment submodel in more detail.

6 The Investment Submodel

As in section (2), each firm chooses its investment path to maximize the stock market value
of its equity. Assuming once more that the firm’s short and long run optimizations are separable,
the outcome of its short run decision can be summarized by an earnings flE{&id?), where
K is its capital stock an® is a vector of short run variables such as the price of the firm’s output.
All investment is internally financed, so dividends are short run profits less investment expendi-
ture. WritingC(1, P) for the investment cost function, where 1 is investment, and following the
method described in (2), the firm’s investment problem at tiwen be shown to be:

0

maxJ'( E(K,P)-C(I,P))1-THe™ dt,
subjecttoK' = | — 9K, (6.1)

wherer is the interest ratej is the rate of depreciation, aid is the dividend tax rate. This is
precisely the problem described in section (2). Given specific earnings and investment cost func-
tions, the principles of optimal control could be applied to generate first-order conditions for
value maximization. The completed model will contain two of these investment submodels, one
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each for industries A and B.

6.1 Investment by Sector A in Firm-Specific Capital

To formulate firm A's investment problem, the first step is to derive its short run profit func-
tion from its production function. Production of good A is taken to be a Cobb-Douglas function
of labor and capital, and the firm takes prices as given, so from the production function:

Xa = (LE)*(Ka)' ™2, (6.2)

where LY is the labor used in production by industry A, the short run profit function can be
shown to be:

1-&, EaPa d'/(l_ga)
g, Ow O

Ea(Ka, P) = WK, , (6.3)

whereP, is the price of the firm’s output anl is the wage rate. Notice that the firm must form
expectations about both the future course of wages and the price of its product in order to be able
to compute the earnings of its future capital stock.

In addition to the earnings function, the firm’s investment cost function is needed in order to
solve the optimization problem. An intuitive way to obtain the function is to derive it from a par-
ticular choice of the firm’s investment-good production function. In this model we assume the
firm produces its own investment good by purchasing raw capi&land hiring labor (}) to
install it. The amount of labor required is proportional to the square of the amount of raw capital.
This description can be summarized by the Leontief production function below:

1
I, = min{ X2, gr;/eag y, (6.4)

where X§ is raw capital,L} is labor used by industry A in the construction of its investment
good, andy, is a parameter. The corresponding cost function is:

Ca(Xg,P) = (PsX3 + WL -T9), (6.5)

whereT® is an investment subsidy. Minimizing investment costs given the production function
above requires that the following hold:
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|a:x§=§|_;/9a§. (6.6)
Solving for X§ andL}, in terms ofl , gives:
X§ =1, (6.7)
and
L. =6,12. (6.8)
Finally, this means the investment cost function can be written as shown:
Ca(la, P) = (P3la + WE,12)(1-T9) . (6.9)

Three important remarks must be made about this equation. First, bé&gasseot zero,
the firm faces internal costs of adjustment: the cost of new capital is convex in investment. Sec-
ond, adjustment costs depend on gross rather than net investment. In the steady state, gross
investment will be equal to depreciation, so steady state adjustment costs depend on the size of
the capital stock. This feature will be relevant for a simulation presented in section (10), but it
could easily be removed by rewriting the problem in terms of net investment. Third, adjustment
costs depend on investment but not on the capital stock. In the investment literature, adjustment
costs are often assumed to be a function of the rAtipnot of | alone. Our formulation comes
about as a consequence of the installation function we used in (6.4). To make adjustment costs a
function ofI/K, (6.4) would have to be modified.

Returning to development of the investment model, finding the path of the capital stock
requires solving an optimal control problem using the short run profit and investment cost func-
tions above. The result is a system of differential equations--the problem’s first-order condi-
tions--which must be solved to produce an explicit expression for the capital stock over time. For
sector A, these first-order conditions are:

Ag = (P3+2W6,1)1-THA-T9), (6.10)
A =(r+38)A, - p(1-T9), (6.11)
K'y=1,-6Kj,. (6.12)

where
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1- Ea)Dfa Pa d-/(l_ga)

W. 6.13
g, OW U ( )

B=(

Solving for investment as a function of and the exogenous variables (see equation (2.22)) pro-
duces the following:

N Aa

'a 2W6, * (1-T9)(@L-T5) P3). (6.14)

Inserting this into the capital accumulation condition gives the equations of motion for sector A:

Na=(r+3)Ag = BL-TY), (6.15)
, 1 Aa ~ )
K'a= owe, (a=Taya=T9 F3)~Ka- (6.16)

Finally, we will eventually need an expression for the steady state valye &ettingi’, to zero
in (6.15) and solving foa ; produces the required formula:

_Td
sl BT

s s (6.17)

Of course, (6.17) will only hold at the steady state.

6.2 Investment by Sector B in General Purpose Capital

The other investment sector, industry B, produces capital services which it rents to other
sectors. It takes prices as given, so its earnings depend only on its capital stock and the corre-
sponding rental price:

Eb(Kp, P) = oKy , (6.18)

wherep is the rental price of a unit of general purpose capital. The sector’s investment cost func-
tion is identical in form to that of industry A, except that paramgtdras been replaced Iy:

Cp(lp, P) = (P3lp + W6, 12)(1-T9) . (6.19)

The first-order conditions for this problem are given below:
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Ap = (P3+2W6p 1)1 -TH(A-T9),

Ap' =(r+3)Ap — p(1-TY),

K'b: Ib_5Kb-

For this sector, investment is given by

1 Ab
lp = -P3).
b~ 2we, ( @-TdHh@a-T1s) 3 )
Thus, sector B’s equations of motion are the following:
A= (r+3)Ap = p(1-TY),
1 Ab
K'y = -P3)-0dKyp.
>~ 2we, ( (1-T9@-T9) 3) b

Finally, the steady state value of can be shown to be the following:

sz PL=T)
b - .
r+o

7 The Short Run General Equilibrium Model

The general equilibrium model includes the two investment sectors (A,B), three "tradi-
tional" industries (1,2,3), one consumer and the government. The traditional industries rent capi-
tal from sector B and earn no short run profits. Consumption goods are produced by industry A
and by traditional sectors 1 and 2. The third traditional sector, 3, produces raw capital goods used
in investment. All prices in the model are those received by producers, except for that of raw
capital goods which is the purchaser’s price. The following subsections present the model’s

equations, which are also summarized in appendix (2).

7.1 Investment Sectors

As discussed above, production in sector A is a Cobb-Douglas function of labor used in pro-

duction and the industry’s capital stock:

(6.20)

(6.21)

(6.22)

(6.23)

(6.24)

(6.25)

(6.26)
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Xa = (LE)®(Ka)' ™2 . (7.1)

Maximizing profits on existing capital implies the labor demand equation shown below:

N e L
La

=ow o Ka- (7.2)

Cost minimization in production of investment goods generates the demands shown below for
raw capital and investment labor:

Xg = |a , (73)

LL=6,13. (7.4)

Finally, revenue less wage costs in production less investment costs gives pre-tax dividends:
D, = P,X, - WLP - gngg + WL;gl— 9. (7.5)

Industry B produces only capital services, so its behavior is entirely determined by the opti-
mal path of its capital stock. Deriving the demands for raw capital and investment labor produces
the equations shown below:

Xg = Ib , (76)
Lp = 6pl2 7.7
b=6blb - (7.7)
Gross dividends are simply revenue less investment costs:
Dy = pKp — (P3X8 + WLL)(1-T9) . (7.8)

The equations above fully describe the short run behavior of the special investment sectors in the
model.

7.2 Other Production

Three other sectors are included in the model: industries 1, 2 and 3. These sectors rent their
capital from industry B at price and do not invest. Production in each sector is Cobb-Douglas,
as shown below, wheié¥1, 2, 3:
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Xi = p(Li)(Kp) . (7.9)

Straightforward optimization generates the factor demand equations shown below:

1,0 pg O°F

L = ;I Xi D/\/(]_— gi) 0 , (710)

(7.11)

Finally, each sector is constrained to earn zero pure profits. For industries 1 and 2 this con-
dition is:

XiPi = WL + oK} . (7.12)

Because the price of raw capital goods is the purchaser’s cost, the zero pure profit condition for
industry 3 is slightly different, as shown below:

X3P3 = (1+ T3)(WLs + pK3) (7.13)

WhereTg is the sales tax on capital goods.

7.3 The Consumer

The single consumer in the model supplies labor and owns both investment firms, so
income includes wages, dividends and lump sum payments from the government. There is no
explicit saving, so all income in each period is spent on consumption. (Implicitly, however, the
consumer saves whatever earnings the firms retain for new investment.) Thus, the consumer’s
budget constraint is the following:

C=WL(A-T") +(Dy+ Dp)(1-TY) + LS, (7.14)

where C is consumption expenditurd,” is the tax on wages, andS is a lump sum payment

from the government. Ultility is a Cobb-Douglas function of the consumption of goods A, 1 and
2, and labor is supplied inelastically, so the demand system below can be derived from utility
maximization subject to the budget constraint in equation (7.14):

XSP,(1+T3) =adC, (7.15)
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x¢P,(1+ThH =alcC, (7.16)

XSP,(1+T2) =a2C. (7.17)

where thez’s are Cobb-Douglas exponents, aFfj T2, andT?2 are sales taxes on goods A, 1 and
2 respectively.

An important consequence of formulating the consumer problem this way is that the supply
of savings is perfectly elastic: consumers save whatever firms want to borrow at the prevailing
interest rate. Many applied general equilibrium models use the opposite assumption, that capital
accumulation is driven entirely by savings behavior. The truth is likely to be somewhere in
between. One way to give the model more realistic savings behavior would be to formulate the
consumer problem as an explicit intertemporal optimization; for example, consumers could be
modeled as life-cycle savers. All methods presented in this paper apply as easily to consumption
as they did to investment. In particular, the finite difference method works in exactly the same
way. Thus, a more sophisticated model could include intertemporal optimization by both con-
sumers and firms with little additional difficulty. For the purposes of this paper, however, we will
confine our model to intertemporal investment.

7.4 The Government

The government is constrained to balance its budget, so spending is equal to tax revenue
less lump sum payments and subsidies. Revenue is raised by dividend taxes, wage taxes and
sales taxes, while lump sum payments are made to the consumer and subsidies are paid on invest-
ment expenditure. Thus, the government’s budget is given by the following equation:

G = T4(Dq + Dy) - T2 P5(X§ + XB) + W(B,12 +6517)

+ T2PaXq + TEP1 Xy + T2XoP, + TEP3 X3

+ TWWL - LS. (7.18)

The government demand system is derived from a Cobb-Douglas utility function and consists of
the following equations:

XCP,(1+T3) =adG, (7.19)

XePi(1+TYH) =alG, (7.20)

XSP,(1+T2) = aiG. (7.21)
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7.5 Market Clearing

The final group of equations necessary to define the model is the set of market clearing con-
ditions. For goods A, 1 and 2, total demand is the sum of private and government demand.
Demand for good 3 is the sum of raw capital demand by the two investment sectors. The four
equations are:

Xa = X§ + XS, (7.22)
X1 =X + X¢, (7.23)
Xp = XS + X5, (7.24)
Xg= X8+ X8 (7.25)

In addition, factor market clearing for labor and capital B requires the following:

L=LP+ L+ L+ + L+ Lg, (7.26)

Kp = K + K2+ KZ. (7.27)

7.6 Other Equations

In addition to all of the equations above, a price deflator was also incorporated into the
model. The index{, was defined as the cost of the current bundle of consumption and govern-
ment goods at current prices divided by its cost at period zero's initial prices:

r=_ XaPall* T2) + Xy Py(1+T3) + XoPo(1+T2)

T Xa[Pa(L+ Ty + X1 [P (L + Ty + Xo[Po(1+ T, (7.28)

where the variables in parentheses subscripted by "b" are base case values.

8 Expectations

The two investment models described in section (6) depend on a number of future variables
that the firms take as given. Strictly speaking, what appears in the optimizations arexXpets’
tationsof those variables. This means that we must make an assumption about how expectations
are formed in order to be able to link the investment and general equilibrium models. One possi-
bility is to assume that the expectations are "rational”, by which we mean that in the absence of
any unforeseen shocks, firms can predict the course of the economy perfectly. To implement
rational expectations the variables needed in the investment model could be taken directly from
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their counterparts in the short-run general equilibrium models. The price of capital appearing in
an investment model, for example, would be exactly equal to the price generated by the general
equilibrium model for the appropriate date. Solving the complete model simultaneously would
yield a path of wages and prices consistent with firms’ planned capital stocks, and also a capital
accumulation plan consistent with wages and prices. Thus, one possible assumption about expec-
tations is that they are rational, which is straightforward to implement.

On intuitive grounds, rational expectations might seem implausible - it appears to require
excessively sophisticated behavior on the part of agents. However, it has one compelling charac-
teristic: it is the only expectations mechanism that is not dominated from an agent's point of
view; forming expectations any other way means an agent would systematically be wrong about
the future. As long as there are no costs to forming rational expectations, it will always be in an
agent’s interest to do so. For this reason, we will adopt the rational expectations assumption for
many of the simulations described in this paper. There is nothing about the model, however, that
makes this necessary; any expectations mechanism could have been used.

In fact, the actual mechanism in the model contains provisions for introducing particular
departures from complete rationality. The investment problems outlined in section (6) depend on
expectations abouy, W, Py, P3, T9 andTS. For each of these, an expectation was formed by
combining its true general equilibrium value with an exogenous component. For example, the
expected wage in the investment submodél, was formed out of the true general equilibrium
wage,W, and a fixed expectatioW*, as shown below:

WE = (W) n(WX) (8.1)

whereA, was a parameter ranging from zero to one. When 1, firms have perfect foresight;
when A, =0, the expected wage is set to the exogenous VilueThis procedure was also car-
ried out for expectations of the exogenous variabfeand TS, but a separate parametgy, was
used.

Parametersi,, and A, allow simulations to be run under different assumptions about the
extent to which firms can predict future variables. When kgtand A, are set to 1, firms have
perfect foresight. On the other handjjf=0 andA, =1, firms understand what tax changes are
planned for the future, but they are unable to correctly predict the general equilibrium conse-
guences. Setting, and A, both to zero converts the model to a set of linked static equilibria in
which investment is not affected by anything. The remaining dgse,l andA, =0 is of little
interest.

9 Implementing the Model

We have now completed the economic specification of our small intertemporal general equi-
librium model. Before it can be used to analyze experiments, however, it must be implemented
on a computer. In this section, we describe one way that could be done. The method we present
is straightforward and produces a versatile model that solves quickly. It is by no means the only
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way the model could have been implemented, however. Thus, it is important to distinguish
between the model, described in sections (5) to (8), and the solution method, which is described
below.

There are four tasks to accomplish in implementing a model: selecting the solution algo-
rithm, constructing the data set, partitioning the variables into endogenous and exogenous sets,
and testing the final program. The next four sections describe each of these steps in detail.

9.1 The Solution Algorithm

Solving the two investment problems requires solving a system of differential equations,
while solving the short-run general equilibrium model requires solving a large system of nonlin-
ear equations. Both components of the model must be solved simultaneously, so the entire pro-
cess is not trivial. This section will set out the basic approach used and discuss how close the
numerical solution will be to the true solution.

In order to solve the investment problems of the firms in sectors A and B, the equations of
motion for the two problems were converted to their finite difference equivalents. For sector B
this produced the following expressions:

Ap(t +h) = A,(t)

h = (r +0)Ap(t) - PSOIL - (TU(1)°, (9.1)
Kpt+h) -Kp) = 1 Con mer
h T 2We()a, (Ap(t) = P3(1) ) — oK, (1), (9.2)

Where/\}:(t) has been introduced solely for notational convenience, and is given by the expres-
sion:

Ap(t)
(1 - (Ta(t))e) (@ - (Ts(1)®)

Ap(t) = (9.3)

Equations (9.1) and (9.2) were obtained by inserting the appropriate terms from (6.24) and (6.25)
into the general expressions (4.17) and (4.18). The results for sector A are very similar. Notice
that we have been careful to write all the variables as functions of time, and to mark all of the
expected variables with a superscript "e". This will be essential when we link the investment

models to the short-run general equilibrium system.

Equations (9.1) and (9.2) are lineardnand A, so if the time paths of the other variables
were known, the complete system of finite difference equations could be solved easily using
Gaussian elimination. Thus, if we only wanted a partial-equilibrium investment model we could
stop here. In a general equilibrium analysis, however, many of those variables are endogenous
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and are not known prior to solving the investment problem. To impose rational expectations, for
example, the expected endogenous variables at all future times must be consistent with the short-
run general equilibrium model.

In practice, expected values are needed for each grid point in the finite difference approxi-
mation. If there aréN grid points, there will béN systems like (9.1) and (9.2), each holding at a
different point in time. Every system will require expected values for the endogenous variables,
so the short-run model will have to be solved at each point on the grid. To accomplish this, we
converted the short-run model to its percentage changé®and then required that the resulting
system hold at each grid point. This produced a s&t mfentical linear short-run models, each
holding at a different point in time. In addition, we required that linearized versions of the steady
state formulae forn, and Ay, given in equations (6.17) and (6.26) hold in the final period. Lin-
earizing the short-run model made it necessary to linearize the investment model as well, but that
had an extremely useful consequence: the set of short-run models and the investment model had
both become systems of linear equations. This made it possible to obtain an intertemporal solu-
tion simply by applying Gaussian elimination to a very large system of equations.

The complete model thus entails Taylor series expansions in both time (finite differences)
and variables (linearization). This means the solution is only approximate, so steps must be taken
to ensure that truncation error is kept adequately small. However, the results may be made arbi-
trarily accurate by decreasing the step size used in each expansion, so at least in principle this is
not an insurmountable problem. We will return to this topic in section (9.4).

For the simulations described below, we implemented the model with the following fea-
tures. The terminal time — the point at which the steady state valuaa$ imposed - was cho-
sen to be 100 years in the future. This made the overall solution period of the model [0, 100].
Eleven grid points were used in the finite difference approximation: one at year 0, one at year
100, and nine scattered in between. To obtain adequate numerical accuracy, a nonuniform grid
was used. Thus, the grid points were not necessarily located at multiples of ten years. The subject
of grid spacing will be discussed further in section (9.4).

9.2 The Data Set

The next step in implementing the model was to construct a data set to be used as the base
case. For a static model a base case can usually be assembled from a single input-output table
and a handful of parameters. Intertemporal models, however, require much more data. In princi-
ple, an intertemporal base case consists of an entire string of equilibria stretching far into the
future. This presents a formidable problem because the future equilibria cannot be dfiserved.
Since the base case cannot be built from observable data, it must be constructed by postulating
future paths for the exogenous variables and finding a corresponding solution to the model. The
difficulty of this depends on what behavior is required of the base case exogenous variables.

45, This is an application of Johansen’s method. For further details on Johansen linearization, refer to chapter 3 of Dixon, Par-
menter, Powell and Wilcoxen.

46. For retrospective (counterfactual) simulations, it may be possible to observe a number of the initial equilibria, but there will
always be some that are unobservable.



-56-

The easiest base case to construct, and the one that has dominated intertemporal modeling
to date, is a steady state. In this approach, the base case values of future exogenous variables are
set to particular constants. Then, the data set for the first year of the base case (which is usually
obtained from historical data) is adjusted so that the model will replicate itself from year to year
as long as the exogenous variables remain at their original values. The result is a base case which
consists of an arbitrary string of future periods which are identical to the initial year. This kind of
scenario is fairly easy to construct because it only requires obtaining a steady state solution to the
model.

For many experiments, a steady state base case is perfectly acceptable. Often the most
important question about a particular shock is how far it pushes the economy away from the base
case path, not how the base case itself is evolving. In this situation, starting from a steady state is
a minor liability which is more than offset by the ease with which the base case can be con-
structed. For this reason, we have chosen to use a steady state base case for the simulations pre-
sented below. Methods for building other kinds of base case are beyond the scope of this book,
but are discussed in Wilcoxen (1988) and Codsi, Pearson and Wilcoxen (1990).

The actual data set we used is presented in appendix Al. It has a number of interesting fea-
tures, but does not represent any particular economy. One of its most important characteristics is
that the patterns of private consumption and government spending are identical, so no composi-
tional effects arise when changes in taxes induce transfers of income between the private and
government sectors. We built this feature into the data set deliberately so it would be easier to
interpret the model’s results.

9.3 Partitioning

Once the solution algorithm and the data set have been prepared, the next step is to decide
on a partitioning of the model’s variables into endogenous and exogenous sets. One of the advan-
tages of using the Johansen approach is that it is easy to change the partition for individual exper-
iments, so the partition established at this stage does not constrain future simulations at all. For
other solution algorithms, however, the partitioning done at this stage will be permanent; it will
be impossible to switch the endogenous and exogenous variables later. Table 9.1 shows the basic
list of exogenous variables used in the experiments discussed below.

Since the price deflator is exogenous, it will be the model's numeraire. The role of the
numeraire in an intertemporal model differs quite a bit from its role in a static setting. In particu-
lar, the numeraire may have to establish the rate of pure inflation in addition to setting the overall
price level. In the model above, for example, there is no equation describing how the price level
evolves from one year to the next. This means that the rate of pure inflation will be determined
by the path of the numeraire over time. Thus, if the numeraire were constant (as it is in the base
case data set), there would be no pure inflation — the price of the aggregate consumption bundle
would be
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Table 9.1: Exogenous Variables

Symbol  Description

Ka Sector A capital (period 0 only)
Kp Sector B capital (period 0 only)

L Total labor supply

G Government spending

Tw Tax on wages

T2 Sales tax on good A

T! Sales tax on good 1

T2 Sales tax on good 2

TS Sales tax on good 3

Td Dividend tax

TS Investment subsidy

Vi Technical change parameter, industry 1

Vo Technical change parameter, industry 2

V3 Technical change parameter, industry 3
ol Exogenous expectations, rental price
WX Exogenous expectations, wage rate

P3 Exogenous expectations, raw capital price
Px Exogenous expectations, price of good A
T Exogenous expectations, dividend tax rate
T Exogenous expectations, investment subsidy
r Interest rate

’ Price deflator
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constant from one year to the next. On the other hand, if the base case numeraire rose by 5 per-
cent a year, the model would embody a 5 percent rate of pure inflation. Thus, it is possible to
think of the numeraire as having two distinct roles: determining the level of prices in the first
period, and selecting the rate of growth of the price level over time. A more detailed model might
include a money demand equation and an exogenous supply of money, in which case the price
level and the rate of pure inflation would be determined by the (exogenous) money supply. In the
absence of an explicit model of the money market, the numeraire performs the same function.

A second consequence of this choice of partition is that since government spending is
exogenous and the lump sum payment is endogenous, any revenue accruing from changes in tax
rates will be passed back to households. This is convenient for the simulations we discuss below,
but there are other alternatives. In some applications, for example, it may be more useful to make
the lump sum tax exogenous and government spending endogenous. As we mentioned earlier,
however, one of the advantages of the Johansen method is that the partition can be changed at any
time.

A final important feature of the partition is that the interest rate is exogenous. This results
from the structure of the consumer problem described in section (7.3). Since the consumer
always saves exactly what firms want to invest, the supply of savings is perfectly elastic with
respect to the interest rate. Thus, we have little choice but to make the interest rate exogenous. If
we wanted the financial market to be more realistic, we could introduce an upward-sloping sav-
ings supply curve by changing the consumer model to include intertemporal optimization. In this
paper, however, we limit intertemporal modeling to investment in order to keep the exposition as
clear as possible.

9.4 Testing the Complete Model

Once the two finite difference investment modules were combined with the eleven general
equilibrium models, and the entire system was linearized, a number of special experiments were
run to check that the model was programmed correctly. This is an essential step if the numerical
results of the model are to be believed. Three simulations were used: a homogeneity test, a sur-
prise dividend tax at time zero, and an increase in the tax on wages.

The homogeneity test consists of a simultaneous increase in the price deflator and the nomi-
nal lump sum payment. The effect of this should be to raise all nominal variables by the amount
of the increase, and to leave all real variables unchanged. The model produced this result cor-
rectly which indicated that it was free of gross programming errors. The second test was slightly
more interesting. As noted in section (3), increasing the dividend tax at time zero is an unavoid-
able pure profits tax. As such, it should have no effect on the capital stock or output of any indus-
try, although dividends and firm values should fall by the amount of the tax. There should also be
a large shift of income from consumers to the government, but since both sectors have the same
patterns of demand, there will be no compositional effects. These results were also correctly gen-
erated by the model. The final test was an increase in the wage tax paid by consumers. Since
labor supply is completely inelastic, the effect of a wage tax should be a simple transfer of
income to the government. Again the model produced the correct results. Together these
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experiments provide strong (albeit indirect) evidence that the model's implementation was free of
programming errors. Having verified this, it was necessary to check that the linearized model
would correctly converge on less trivial experiments.

In a purely mathematical sense, the model is a system of partial differential equations in
time and variables which are solved by integrating over time using finite differences and over
variables using Euler's meth6dThe accuracy of the solution depends on the step size used in
these integrations: the solution will approach the true solution as the step size in both time and
variables is made infinitesim# To verify that the model was formulated correctly, it was neces-
sary to show that the numerical solution could be made arbitrarily close to the true analytical
solution for a particular experiment. Incidently, this shows how accurate results can be obtained
with a fairly small number of steps in each dimension.

As discussed in section (4), for most experiments it is impossible to obtain an analytical
solution to the investment problem of either firm. One exception, however, is an announced
increase in the dividend tax. Under partial equilibrium (no feedback from the firm’s decision to
the variables it takes as given), the analytical solution to a dividend tax experiment can be
obtained in a straightforward manf{@By comparing the results of numerical simulations to the
analytical solution, the accuracy of the former can be assessed.

The actual experiment we used was an increase in the dividend tax rate from 10 percent to
20 percent, to take effect ten years in the future. The expectation parameters discussed in section
(8) were set tal, =0 andA, =1, so firms ignored any feedback effects from their actions to the
price variables in their investment decisions. The results of the experiment were discussed in
detail in section (3), where the analysis went roughly as follows. The announcement of the tax
causes firms to pay large dividends immediately before the tax takes effect. This drives down
investment, so when the tax is implemented the capital stock will be lower than it would have
been. Once implemented, however, the tax falls on pure profits, so firms return to their pre-
announcement behavior and the economy gradually returns to the original steady state capital
stock, although owners of capital have suffered a windfall loss.

To assess the accuracy of different numerical solutions, we examined how well they cap-
tured the true value of the capital stock in year ten. This is a good measure of the overall accu-
racy of a solution because the true path has a cusp at that point. Recall from section (4) that trun-
cation error will be large in regions where the high-order derivatives dropped from the difference
formulae are large. At a cusp, the first derivative changes discontinuously and the second deriva-
tive goes through infinity. In a numerical simulation, this will manifest itself as rounding of the
solution near where the cusp should be.

The results of several experiments are shown in tabl’ 38e rows indicate how many

47. See chapter 3 of Dixon, Powell, Parmenter and Wilcoxen for an explanation of how Johansen linearization is related to Euler’s
method.

48. As shown in chapter 3 of Dixon, Parmenter, Powell and Wilcoxen, truncation errors in the Johansen linearization can be made
arbitrarily small by applying the shock in a series of small steps.

49. Thisis discussed in detail in one of the exercises.

50. The values in this and subsequent tables were computed using slightly different difference formulae from those shown in section
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steps were used to impose the exogenous shock, while the columns show how many grid intervals
were used in the finite difference approximation. Each entry gives the vakKiEL@f obtained

with a particular combination of iterations and grid points. Step sizes decrease downward and to
the right, so the solution should become more accurate in those directions. The bottom row was
obtained by solving the investment model without linearizing. Since that is equivalent to using
an infinitesimal step size, the row is labeled "infinite" iterations.

Table 9.2: The Effect of Grid Density and Iterations
on the Value of the Capital Stock at Period 10*

Number of Grid Intervals
Iteration 10 20 40 80

1 9623 9376 .9247 .9180
2 9605 .9361 .9236 .9174
4 9596 .9353 .9233 9171
8 9591 9350 .9229 .9169
00 9586 .9346 .9227 9168

* The true value 0K (10) is .9113

Several things are readily apparent. First, increasing either grid density or iterations
improves the solution. Second, because first-order Taylor expansions form the basis of the lin-
earizations in each dimension, the difference between values obtained from successive halvings
of the step size decreases by roughly a factor of two. Third, from the initial 1-iteration, 10-grid-
interval solution, accuracy increases most rapidly by increasing the number of finite difference
grid points. This indicates that the error introduced by the finite difference approximation over-
whelms that of the Johansen linearization. In fact, doubling the grid density improves the solu-
tion by more than increasing the number of Johansen iterations to infinity. This shows that
Johansen linearization error is trivial, but that introduced by finite differences may not be.

As noted in section (4), for large models it may not be feasible to eliminate finite difference
truncation error by using a vast number of grid points. For such models, however, it is possible to
improve the approximation by shifting grid points from regions of low curvature to regions of
high curvature. In practice this involves moving points from late years, say year 80 or 90, to times
nearer implementation of the policy. Table 9.3 shows five possible allocations of nine points to
times between 0 and 100 years.

For an announced tax change which is to be implemented in year 10, the system will almost
be back to the steady state at late years like 90. High-order derivatives of the model’'s variables
will be close to zero there, so it might be desirable to move such points to an earlier time where

(9). Implementing the model as it is described in this paper would produce slightly different, but qualitatively similar, results.
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the derivatives are large. One possibility would be to shift the point from year 90 to year 5; this is

shown in grid B above. Continuing the rearrangement produces the set of grids shown in the
table. The dividend tax was then simulated over each grid, producing the results shown in table
9.4. Again, results are shown for several iterations over the shock.

Table 9.3: A Selection of Grid Spacings

Grid
Point A B C D G
0 0 0 0 0 0
1 10 5 5 5 5
2 20 10 7 7 7
3 30 20 10 9 9
4 40 30 20 10 10
5 50 40 30 20 15
6 60 50 40 30 20
7 70 60 50 40 35
8 80 70 60 50 50
9 a0 80 70 60 75

=
o

100 100 100 100 100

Table 9.4: The Effect of Grid Choice and Iterations
on the Value of the Capital Stock at Period 10*

Grid
Iterations A B C D G
1 9623 9407 .9323 .9233 .9199

2 9605 .9392 9310 .9226 .9192
4 9596 .9384 9303 .9222  .9187
8 9591 9381 .9300 .9219 .9185
00 9586 .9377 .9297 9217  .9183

* The true value oK (10) is .9113

Table 9.4 demonstrates two important properties. First, using a non-uniform grid does not
harm convergence when the number of iterations is increased. This can be seen by reading down
the columns. Second, rearranging a limited number of grid points can produce a solution almost
as accurate as increasing the density of a uniform grid by a factor of eight. This means that using
a limited number of grid points does not necessarily produce an unreasonable amount of finite
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difference truncation error.

At this point, we have verified that our computer implementation of the model behaves cor-
rectly for a variety of experiments. It has produced correct results for the homogeneity test, the
surprise dividend tax test and the wage tax test. In addition, we have subjected it to a more diffi-
cult test by computing numerical solutions to an experiment whose analytical results are known.
Since it has passed all of these tests, it can now be used to run simulations.

10 Some lllustrative Simulations

We had two motives for presenting the model above. The first was to demonstrate how an
intertemporal general equilibrium model can be built; that task has now been accomplished. The
second goal was to show that building such models is worthwhile; it is to that topic that we will
now turn. The evidence we present will be a number of simulations whose results could not have
been obtained from either a short-run general equilibrium model or a partial-equilibrium invest-
ment model. Of course, there are many experiments for which one or the other of those tech-
niques is perfectly adequate. We will not argue that an intertemporal general equilibrium model
is always necessary; just that it is a very useful approach for certain problems.

10.1 The Importance of Foresight

Having gone to all the trouble of integrating the two kinds of model, one question we might
ask is whether we have improved the original investment model. Does it matter that general equi-
librium linkages have been added, or was the partial-equilibrium model just as good? The answer
depends on what assumption we want to make about agents’ expectations. If we are content to
give them beliefs about the future that are exogenous and completely fixed, then nothing has been
gained by moving to an integrated model. On the other hand, if we want agents to have rational
expectations, adding the short-run general equilibrium models makes that possible. This suggests
an important question: does it matter whether expectations are rational?

Using our integrated model, it is possible to test precisely that point. The expectations
parameters},, andA,, allow us to run simulations under either perfect foresight or fixed expecta-
tions. Setting both parameters to one produces perfect foresight; setting either of them to zero
produces some form of fixed expectations. One case of fixed expectations is somewhat appeal-
ing: perhaps agents have perfect foresight with respect to taxes but have fixed beliefs about
prices. To be concrete, a firm might know the future path of the dividend tax accurately from
government proclamations, but be completely unaware that the tax will end up changing the
wages and prices it faces. This form of expectations can be simulated by sgtbngne andi,
to zero. To see whether this differs significantly from perfect foresight, we can run a typical
experiment under the two assumptions abiguandA .

The experiment we chose was an announced change in the dividend tax from 10 percent to
20 percent to be implemented in period ten. In this experiment, and all of the others described
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below, ten finite difference intervals were used with grid points placed according to column G in
table 9.3. The dividend tax experiment was chosen because it has no permanent effect on prices
and wages. Thus, even the agents without perfect foresight will not be wrong forever.

The results of these two simulations are shown in figure 10.1. Each graph gives the percent-
age change in a particular variable from its base case value in the corresponding year. Different
panels show capital stocks A and B, investment A and B, the wage, the rental price of capital B,
the price of good A, dividends paid by sectors A and B and consumption. Consumption is
unchanged in the long run because the government returns any extra revenue through lump-sum
payments. The paths marked "P" are for perfect foresight; those marked "F" are for fixed expec-
tations.

The striking feature of figure 10.1 is that perfect foresight with respect to prices and wages
attenuates the response of the model by about 50 percent. This affect even occurs in period zero:
investment falls less than half as much under perfect foresight. The reason the simulations are so
different is that as the capital stock declines, the price of each firm’s output rises in response.
This keeps returns higher in the period before implementation, so the firms with foresight will not
let their capital stock deteriorate as fast as those expecting the price to be unchanged.

One other important feature of the results is that many of the variables change substantially
in the period before the tax is implemented. This demonstrates the second part of our assertion
about the usefulness of building intertemporal models: intertemporal optimization by investors
can have a substantial effect on the economy even before an anticipated event occurs. In a static
model, expectations of future policy changes can never affect current variables.

From this simulation we conclude that adding general equilibrium effects has changed the
investment model substantially. To the extent that agents have rational expectations, a partial
equilibrium investment model will overstate the response of investment and the capital stock to
any given shock. Moreover, the inaccuracy can be as much as 50 percent. Finally, both sets of
results also show that intertemporal effects can have significant consequences for ordinary gen-
eral equilibrium variables.

10.2 Indirect Dynamic Effects

Another advantage of the integrated model is that it can be used to study the dynamic
effects of policies which only influence the investment problem indirectly. One example of this
would be a change in sales taxes. Sales taxes do not appear in either firm’s investment problem
because the firms are only interested in the price they receive, not in what purchasers actually pay.
In general equilibrium, of course, changing sales taxes would usually change the prices faced by a
producer. Thus, even though sales taxes do not enter the investment model explicitly, they can
still affect it by changing the prices that do appear in the problem. Using the integrated model
allows these effects to be captured. This section presents two sales tax simulations, each of which
highlights a different characteristic of the model.
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Figure 10.2 shows the effect of an announced increase in the sales tax on good A to be
implemented at year ten. The general equilibrium effect of the tax is to raise purchaser prices and
lower producer prices. This makes investment in sector A less attractive, so its capital stock
begins to decline. The path of sector As investment and capital stock is very similar to that dis-
played in exercise (E1), and comes about for the same reason: there is a decline in the producer
price of good A. The shock has a modest effect on industry A, reducing its long run capital stock
by about 6 percent.

The decline in sector A has effects throughout the economy. It frees up labor that used to be
employed in sector A, causing a drop in the wage rate. Lower wages benefit sector B by lowering
its investment costs, dg increases an,, rises over time. This drives down the rental price of
capital B, so producer prices of goods 1, 2 and 3 must fall since the wage also fell. The producer
price of good A also falls, although the purchaser’s price has risen because of the tax.

The behavior of sector As dividend stream is striking: before the tax is implemé&nted,
actually increases. As discussed in exercise (E1), this comes about because investment drops in
anticipation of the tax, leaving more earnings to be distributed as dividends. Once the tax is in
place, however, fewer dividends can be paidgalrops below its base case value. The present
value of the change in the dividend stream is negative, so the tax results in a windfall loss to own-
ers of the firm.

To summarize this experiment, an anticipated change in a sales tax can produce interesting
intertemporal effects that could not be captured by either a partial-equilibrium investment model
or a static general equilibrium model. This point is further emphasized by a second sales tax
experiment which introduces a shock that is even further removed from the investment models:
an increase in the tax on good 2. Sector 2 does not do any investment itself, so the effect on
investment of increasing the sales tax on good 2 will only occur through indirect general equilib-
rium linkages.

The results of simulating an increaseTfiare shown in figure 10.3. The main difference
between this and the previous experiment is that the capital stock in both sectors A and B rises
over time. The source of this curious result is that sector 2 is very large and very labor intensive.
A small contraction in its output leads to a substantial drop in the wage. This lowers investment
costs for both sectors A and B, so investment rises and both capital stocks grow. Finally, growth
of the capital stocks causes the rental price of capital B and the price of good A to fall. In the
end, sector A has gained, producing slightly higher dividends, while sector B’s dividends have
fallen considerably.

Overall, the three simulations presented in this section indicate the wide variety of experi-
ments that can be analyzed using an intertemporal general equilibrium model which could not be
studied in a static or partial equilibrium context. For many policy questions, this will easily jus-
tify the extra work required to build an intertemporal model.
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11 Goals, Reading Guide and References

In this paper we have tried to illustrate the basic techniques used in intertemporal modeling
and to show how they can be applied in building an intertemporal general equilibrium model. We
believe that by reading it and working through the exercises, you will develop the skills needed to
understand the intertemporal models you come across in the literature and to be able to build your
own. In particular, we hope you will

(1) be able to discuss what circumstances call for the use of an intertemporal model,

(2) understand how to build theoretical models of intertemporal decisions from basic principles
such as arbitrage, and to understand g-theoretic investment models in particular;

(3) be able to use graphical techniques such as phase planes to describe in qualitative terms
how an intertemporal model will respond to a shock;

(4) be familiar with numerical methods that can be used when it is necessary to obtain quantita-
tive results from an intertemporal model,

(5) know how to integrate intertemporal decisions into general equilibrium models, and be able
to discuss what costs and benefits that entails.

Intertemporal modeling uses a number of mathematical methods that you may not have
encountered before. The reading guide for this paper is intended to help you fill in gaps in your
knowledge of optimal control, differential equations, numerical methods and linear algebra. It
also includes a number of references to particularly important or useful parts of the economic lit-
erature on intertemporal analysis.
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E1l. The Effects of a Price Shock

Section (3) explored the consequences of a dividend tax change for the model of section (2).
There are, however, several other interesting experiments that can be examined with the model.
One of these is an increase in the price of the firm’s output, which will be the subject of this exer-
cise. For convenience, the model's investment equation and equations of motion are shown
below:

= s (71 —Td Py , (2.34)
A'=(r+8)A - p(P)1-TY), (2.35)
: A Pk

=2 —5K--X 2.
2we(1 - Td) 2wé (2.36)

(@) Using a phase diagram, show the effect of an unexpected immediate, permanent increase in
the price of the firm’s output. Also, sketch the paths of the multiplier, investment and the capital
stock over time. Briefly explain the results.

(b) Using another phase diagram, show the effect of a permanent increase in the firm’'s output
price expected to occur in two years. Again, sketch the time paths of the model’s variables.

(c) Finally, use a third phase diagram to analyze the effect of an anticipated temporary increase
in the price of the firm’s output lasting for three years. That is, investors believe that the price
will rise immediately, stay high for three years, and then fall back to its original value. Sketch the
paths of the variables.

*kkkkkhkk Answer *kkkkkhkk

(@) The phase diagram and time paths of the variables for a surprise permanent increase in the
price of the firm’s output are shown in figure E1.1. The increased output price immediately raises
the marginal value of additional capital so the system jumps from point A to point B. Since

the price of raw capital goods has not changed, the firm expands investment until higher adjust-
ment costs raise the price of installed capital to the new valae With higher investment, the

capital stock rises asymptotically toward its new steady state level at C.

(b) The phase diagram and graphs of the dynamic variables are shown in figure E1.2. These
results differ quite a bit from those of the previous experiment. When news of the price increase
first arrives,A jumps part way toward its new steady state value. It does not jump all the way,
however, because the higher price will not be obtained for several years. In the period between
announcement and implementation of the new priagses exponentially toward the new stable
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path, arriving there just as the price increase occurs. Investment follows the pagraping

upward at the announcement and then rising steadily toward its new steady state value. The capi-
tal stock is drawn upward by the higher level of investment, reaching a peak rate of growth at the
instant of implementation. After that it continues to grow, but at a slower rate. Over time, it
asymptotically approaches the steady state.

(c) This experiment is the most interesting of the three. The phase diagram and variable paths
are shown below in figure E1.3. In this case, a temporary increase in the output price leads to an
upward jump inA from point A to B at the instant the price rises. This occurs because the
increased output price raises the returns to capital, at least for a while.

After the initial jump, the system moves downward and to the right under the control of the
equations of motion holding at the higher price. The intuitive reason for this is quite interesting.
When A rises, so does investment. Higher investment leads to growth in the capital stock, so the
system moves toward the right. At the same time, the remaining period of higher prices becomes
steadily shorter. This causggo fall back toward its initial value, pushing the system downward.

As A falls, however, so does investment. Eventually, a point is reached where investment just
covers depreciation of the higher capital stock. On the phase diagram, that point occurs where the
dynamic path crosses th& = 0 locus, as indicated by point C in the figure.

At point C, the system is moving straight down. Investment is just enough to maintain the
captial stock, bui is still declining. Past C, the model begins moving downward and to the left.
The value oft has fallen so much that investment is no longer enough to offset depreciation and
the capital stock begins to erode. This continues until the price finally returns to its original
value. At that time the system will have reached point D. A @nd investment are back to
their original values, but the capital stock is somewhat higher than its steady state valu& Thus,
continues to erode, gradually returning to its initial value.

An interesting feature of this experiment is that the dynamic path crossks tHelocus.
This demonstrates that the loci do not necessarily confine the model to a particular quadrant.
However, if the system does cross one of the loci, the derivative of the corresponding variable
must be zero (by definition of the loci). In this experiment, for example, the derivative of the cap-
ital stock at point B must be zero; the dynamic path can only cro$s thé locus while moving
vertically. This feature also allows an interesting fact to be deduced about the solution: point D
cannot lie to the left of the initial steady state. If it did, the system would have to cré€stlie
locus a second time. Since that can only occur while the path is moving verficathyld have
to be rising. Howeven falls continuously after its initial jump, so the path cannot rise and can-
not recross th&’ = 0 locus. It must, therefore, intersect the original stable path at or to the right
of the original steady state.

E2. The Effects of a Rise in the Price of Capital Goods

A second interesting experiment that can be explored with the model of section (2) is a
change in the price of capital goods. Again, the model’'s key equations are repeated below for



-80-

convenience:

1 A

= s (71 ~Td Py , (2.34)
A =(r+38)A-pP)1-T9), (2.35)
' % P

=2 -sK--X 2.
2we(1-Td) 2w (2.36)

(@) Using a phase diagram, explain the consequences of an unexpected immediate permanent
fall in the price of capital goods. Sketch the pathsl ofnvestment and the capital stock over
time.

(b) Now use a second phase diagram to illustrate what happens if theRalisranticipated
several years in advance. Are the results what you expected? Discuss.

*kkkkkkk AnSWGr *kkkkkkk

(@) Afall in the price of capital goods shifts thé = 0 locus to the right, as shown in figure

E2.1. TheA' =0 locus is completely unaffected, however sz already at its new steady state
value and does not jump when the price change occurs. From equation (2.34), the lower price of
capital leads to a higher level of investment, even with no changeTiis, in turn, leads to cap-

ital accumulation, so the system moves gradually from the initial steady state at A toward the new
steady state at B.

(b)  Surprisingly, knowing about the price decline in advance does not change the behavior of
firms at all. As shown in figure E2.2 below, the model remains at the initial steady state until the
change actually occurs. After that, it proceeds in precisely the manner described in part (a).

At first this result appears peculiar. Intuitively, it seems as though the firm should be able to
gain by postponing some investment just before the price decline and doing more investment
later. The key, however, is adjustment costs. Recallthstunaffected by the shock. Singéas
the marginal benefit of additional capital goods, investment after the price change proceeds until
adjustment costs rise just enough to make the cost of installed capital egudttthat point, it
would not be optimal for the firm to do more investing because the marginal cost of installed cap-
ital would be greater than its benefit. Thus, the firm would not want to move marginal units of
investment from the instant before the price drop to the instant after it because those units will be
just as expensive when adjustment costs are taken into account.

This point is illustrated in figure E2.3 which shows the marginal cost and marginal benefit
of investment before and after the change in the price of capital goods. The marginal cost curve
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does, indeed, shift down. However, switching investment from before the change to after it
entails saving an amount shown by box A, while spending the amount shown by box B. Clearly,
this is a net loss to the firm, so investment will not be shifted across time. Thus, although the pur-
chase price of new capital goods has fallen, the marginal cost of investment faced by #he firm
its new optimunis unchanged. This means that it is not profitable for the firm to postpone invest-
ment.

E3. Adding More Taxes to the Investment Model

Now consider an economy in which there are two financial assets: government bonds and
equities issued by corporations. Bonds pay a fixed rate of return and there is no inflation. The
government levies three taxes: a dividend tax, a tax on interest payments, and a tax on capital
gains. The earnings (short run profits) of firms are a function of wages, prices and the capital
stock, but not a function of investment. On the other hand, investment costs depend on wages,
prices and investment, but not on the capital stock. Firms take wages, prices, tax rates and the
interest rate to be exogenous. Thus, this economy is similar to that of section (2), except that
there are two additional taxes.

(@) Write down the arbitrage equation for this economy and explain what it means. Using the
arbitrage equation, solve for an explicit expression for the value of the firm in terms of the earn-
ings and investment cost functions and the model’s exogenous variables. What transversality
equation did you use? How should it be interpreted?

(b) Assuming the firm chooses investment to maximize its stock market value, write down the
investment problem, form the Hamiltonian, and find the first order conditions.

(c) Suppose the earnings and investment cost functions have the form shown belovg ishere
function of wages and pricek, is the capital stockp, is the price of new capital goodsis the
level of investment, and is a parameter:

E = B(P)K, (E3.1)
_ Pyl?
C= ETS (E3.2)

Using this information and the results obtained in part (b), find the first order conditions for this
particular problem. Then find an expression for investment in terms of other variables. Finally,
using the investment equation to eliminate investment from the other first order equations, show
that the model’s equations of motion are the following:

1-T 1-T¢
+9)A - B(P
i CARR A

(E3.3)
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160 1-T°
K' = K . E3.4
P(l Ta) =9 (E3.4)

*kkkkkkk Answer *kkkkkkk

(@) Arbitrage will equate after-tax returns on bonds and equity, so in equilibrium the following
expression must hold:

@-THrv =D -TY +V'1-T°, (E3.5)

wherer is the interest rate on bondéjs the value of the firmD is the dividend paid by the firm,
and theT’s are the three tax rates. The left side of (E3.5) is the after-tax retiwndotiars of
bonds, while the right side is the after-tax return/aaollars of equity.

The arbitrage condition in (E3.5) is a differential equation describing the evolution of the
value of the firm. To find an explicit expression for the firm’s value, start by rearranging (E3.5) to
obtain:

-1 1-T1¢

Vi ——— 1V =-
1-T¢ 1-T¢

(E3.6)

This form suggests the equation can be solved using the integrating factor shown below:
e ROY (E3.7)

whereR(a, b) is defined by:

T'(v)

e V- (E3.8)

R(a, b) = Ir( )

Expression (E3.8) takes the form of an integral because the two tax rates (and the interest rate) are
not necessarily constant over time. If they were, (E3.8) would simplify to:

1Ti

R@ab)=r _(b-a), (E3.9)

which is similar in form to the integrating factor used in section (2).

Multiplying (E3.6) by (E3.7) converts the left side of (E3.6) into an exact differential, so it
is easy to show that the following is true:
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1-T
(V' - rv)e ROY =

d(ve oY)
1-Te '

E3.10
o ( )

Thus, after multiplying by the integrating factor, (E3.6) can be integrated axgrttgive:

®1-T1¢
|m1v6m*@9—vam*@0:—lDéW%ws. (E3.11)
S- 00 1—TC

At this point, we assume that the limit in the left-most term of (E3.11) is zero. This is
known as a transversality condition, and it will be true as long as the value of the firm grows
more slowly than the tax-adjusted interest rate as time tends toward infinity. The best way to
interpret it is to look at what behavior it rules out. If the value of the firm were to grow more
rapidly than the interest rate, for the arbitrage condition (E3.5) to hold, the firm would have to pay
negativedividends; otherwise, no one would be willing to hold bonds. Thus, the transversality
condition rules out firms whose value grows more rapidly than the tax-adjusted interest rate for-
ever even though they pay negative dividends. In recognition of the Ponzi swindle, the transver-
sality condition is often said to prohibit infinitely-lived Ponzi schemes.

After applying the transversality condition and rearranging slightly, we obtain an explicit
equation for the value of the firm at any titme

1-T¢

1o De Rt9(s. (E3.12)

va)zf

Note that use has been made of the following property:
e—R(O,S) [éR(O,t) - e—R(t,S) , (E313)

which can be shown to be true from the definitiofR(d, b).

(b) From (E3.12) and the capital accumulation constraint, the firm’s problem at tiamebe
stated as follows:

21-T1¢
maXI o7 De Rt9(gs (E3.14)

subject toK' = | - 0K . (E3.15)

The appropriate Hamiltonian for this problem is:
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H=1= L De Rb9) + A(1 - 5K) (E3.16)
1-T¢ ' '

The first-order conditions are obtained by differentiation:

oH 6D1T

&R, -

Sp = o (ToTe) € I +A=0, (E3.17)

OH _ 9D 1-T% g
- S —A=-N E3.18
9K oK (1-7e) ’ (E3.18)

oH

=1 -0K=K'. E3.19
N ( )

It is convenient to introduce the following transformatior\db eliminate the discount factors:
A(S) = A(s)e RS | (E3.20)

Differentiating this with respect to future tirsgjives:

-T'(9)

N = 00O =19 1)

A(S) De RS (E3.21)

Inserting (E3.20) and (E3.21) into (E3.17) and (E3.18) gives:

oD 1-T¢

51 (o) ¥4 =0, (E3.22)
oD ,1-T¢ . 1-T
a?(l—TC)_éA: -A'+r 1—TCA. (E323)

Equations (E3.19), (E3.22) and (E3.23) are the model’s first-order conditions.

(c) Equations (E3.1) and (E3.2) can be used to obtain the dividends function for the firm. Since
dividends are the difference between earnings and investment, the following must be true:

D=E-C. (E3.24)

Inserting (E3.1) and (E3.2) gives:
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P12
20

D = B(P)K - (E3.25)

Equation (E3.25) can be differentiated to provide the differentials needed in (E3.22) and (E3.23):

oD _ Pyl
ST (E3.26)
oD

S = B(P). (E3.27)

Inserting these into (E3.22), (E3.23) and (E3.19), and rearranging a bit, produces the particular
first-order conditions for this problem:

Pl 1-Td
Azik

o (7). (E3.28)

_Ti _7d
)I':(ri I +6)/1—,8(P)1 L (E3.29)
K'=1-0K. (E3.30)

Equation (E3.28) can be solved for investment as a functighaofd A :

A6 1-T¢

=5, -7 (E3.31)

Using this to eliminate investment from (E3.30) produces the system’s equations of motion:

-7 1-T¢
i=(r Lo oA BP) T (E3.32)
A6 1-T°
K'= 5 (Toga) ~ 9K, (E3.33)

where equation (E3.32) is just (E3.29) repeated for clarity.
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E4. The Effects of a Capital Gains Tax

This exercise explores the qualitative effects of a change in the capital gains tax introduced
in exercise (E3). Use the equations of motion from part (c) of that exercise to answer the follow-
ing questions.

(@) Construct a phase diagram for the model and label the important features of it clearly. Be
sure that each locus has the correct slope.

(b) Draw another phase diagram and use it to analyze the effects of an unexpected permanent
decrease in the capital gains tax. Show the initial and final steady states and the transition path.
Sketch the paths of the multiplier (the costate variable), investment and the capital stock over
time. ldentify any important characteristics of the path and interpret it briefly.

(c) Draw a third phase diagram and use it to illustrate the effects of a permanent decrease in the
capital gains tax announced several years in advance. Sketch the paths of important variables and
interpret the solution. Does anticipation of the shock lead to any interesting or perverse effects?

(d) Finally, suppose the government surprises investors with a temporary drop in the capital
gains tax. The tax is lowered immediately, kept low for several years, and then returned to its
original level. Investors understand the new policy, and realize that the tax change is temporary.
Analyze this shock using an appropriate phase diagram.

kkkkkkkk Answer kkkkkkkk

(@) The phase diagram for the model is shown in figure E4.1. It is very similar to the phase dia-
gram derived in section (2), except that the loci are located in somewhat different positions due to
the additional taxes.

(b) The phase diagram and intertemporal paths of capital, the multipliand investment are
shown in figure E4.2. The most interesting consequence of the shockiddhatwhile the cap-

ital stock rises. The latter comes about because even thofails, the implicit cost of invest-

ment drops more because of the reduction in the capital gains tax. In terms of equation (E3.31),
the drop inT® pushs investment up more than the reductiohliowers it.

(c) The diagrams for this section are shown in figure E4.3. An interesting and important fea-
ture of the result is the decline in the capital stock which occurs after the policy is announced but
before it is implemented. The intuition behind this result is exactly the same as in the case of an
announced dividend tax: after the policy has been implemented, the tax rate on capital gains rela-
tive to dividends is lower, so firms find it optimal to shift shareholder returns toward capital gains
and away from dividends. This is accomplished by paying higher dividends before the policy is
implemented, which drives down the capital stock, allowing it to grow rapidly after implementa-
tion. This could be described as a perverse effect because the policy causes a short term deteriora-
tion in K even though it increasdsin the long run. Thus, anticipation causes the short and long
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term effects to have opposite sign.

(d) The diagrams are shown in figure E4.4. When the tax change is only temporary, there is no
permanent effect on the capital stock. However, in the short run there will be a burst of growth in
K until the tax is returned to its initial level. At that point, the capital stock begins to decline
back to its original value. The intuition behind this is another variation on the theme discussed in
part (c): the temporary drop in the capital gains tax makes capital gains (rather than dividends) a
more effective way of transferring earnings to the stockholders. Thus, when the tax is low, firms
do a lot of investment, raising the capital stock and producing capital gains for the stockholders.
Once the tax is removed, investment returns to its original level and the capital stock begins to
deteriorate back to the initial steady state.

E5. Diminishing Returns

Now consider an economy similar to that of exercise (3) but with diminishing returns to
capital in the earnings function. In particular, suppose everything is the same except that earnings
are given by:

E = B(P)In(K), (E5.1)

whereg, P andK have the same interpretation as before. Skides been replaced by its natu-

ral logarithm, the second derivative of the earnings function will be negative. This means that
marginal earnings decrease as the capital stock increases, so from the firm’s point of view, there
are diminishing returns to capital.

(&) Starting from the general results obtained in part (b) of exercise (E3), derive the firm’s first
order conditions. From those, solve for investment as a function of other variables. Finally, solve
for the model’'s equations of motion.

(b) Construct a phase diagram for the model and discuss how it compares to the one obtained
in part (a) of exercise (E4).

(c) Using a phase diagram, analyze the effects of an unexpected permanent increase in the tax
on interest payments. Show the initial and final steady states, and also the transition path. Sketch
the paths of the multiplier, investment and the capital stock over time.

(d) Now draw a third phase diagram and use it to illustrate the effects of a permanent increase
in the interest tax announced several years in advance. Sketch the paths of important variables
and interpret the solution.

kkkkkkkk AnSWer kkkkkkkk
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(@ Inpart (b) of exercise (E3), the general first order conditions for optimization in investment
models of this type were shown to be the following:

| -0K =K', (E3.19)
aD(l_Td)+A-o (E3.22)
al “1-T¢ S '

oD 1-Td 1-T

— —6A= -+ A. E3.23

ok (=7 f1-7c (E3.23)

To obtain the specific first order equations for this model, the next step is to construct the divi-
dend function. As in part (c) of exercise (E3), dividends are earnings less investment costs:

D=E-C. (E5.2)
Applying equations (E5.1) and (E3.2) gives the following:

Py 12
D = B(P) In(K) - —g (E5.3)

Differentiating (E5.3) provides the terms needed in equations (E3.22) and (E3.23):

oD _ Pyl
e (E5.4)
oD (P)
5 =B (E5.5)

Of these, only the second equation has changed from exercise (E3). dBifddehas not
changed, it is straightforward to show that the investment function and capital accumulation equa-
tion will be identical to those found in part (c) of (E3):

A0 L-T°0
=227 0 E3.31
P CL-T90I (E3:31)
16 L-T
k=200 T 0 5 (E3.33)

TP L-TIO
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However, the difference i@D/OK changes the remaining first order condition considerably.
Inserting (E5.5) into (E3.23) produces the following:

1-T! (P) HL-T1dU
AN=(r T+ 0. (E5.6)
-7 K BL-Teq

Thus expression (E3.31) gives the investment function for this model, while (E3.33) and (E5.6)
give its equations of motion.

(b) The phase diagram for this model is shown in figure E5.1. It differs from figure E4.1 in two
respects: both th&' = 0 locus and the stable path are now downward sloping. These changes are
due to the existence of diminishing returns in the earnings function.AThé@ locus becomes
hyperbolic because of theKLterm in equation (E5.6). This reflects the fact that marginal earn-
ings decrease as the capital stock becomes larger.

When theA’ = 0 locus changes, so does the stable path. To see why, consider where the
model would go from an arbitrary point located horizontally to the left of the steady state. Such a
point is no longer on th&' = 0 locus and, in fact, is in a region whe¥'ds negative. This means
that A will begin decreasing as the system moves to the right. Moreover, an inspection of the
phase diagram shows that the model will continue moving downward forever. Thus, if the system
were to start at a point directly to the left of the steady stateuld quickly fall below its steady
state value and remain below it forever. A similar analysis applies for points to the right of the
steady state, except that those points lead to perpetually increasing valueshef stable path,
therefore, is no longer horizontal. In fact, it must be downward sloping, and will lie between the
A" =0 locus and a horizontal line through the steady state. Only from points along such a path
could the model eventually reach the steady state. The path will be unique under the conditions
discussed in section (3.3)

(c) Anincrease in the tax on interest payments shiftdthe0 locus to the right but leaves the

K’ =0 locus unchanged. The steady state, therefore, moves upward and to the right, as shown by
point C in figure E5.2. Since the tax change is permanent and occurs immediately, the model
jumps instantly from the original steady state, point A, to point B on the new stable path. Then,
as time passes, the system moves downward and to the right along the stable path from B to C.
This produces the time pathsAfl andK that are shown in figure E5.2.

At first, this result may seem surprising. Why should a tax increase lead to a rise in the cap-
ital stock? The reason can best be understood from equation (E3.5), the arbitrage condition for
the model. When the tax on interest payments rises, the after-tax return on bonds falls. The tax
does not apply to dividends or capital gains, however, so the return on equity is unchanged. Thus,
the initial effect of the policy is to make the after-tax return on equity higher than the return on
bonds. This produces a windfall gain to the holders of equity, which shows up in figure E5.2 as a
jump from A to B. The increase in produces a subsequent rise in investment, so the capital
stock begins to grow and the model moves toward the new steady state at C.
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(d) When the tax increase is announced in advance, the system follows the path shown in figure
E5.3. At the moment of the announcement, the model jumps from A to B because of the windfall
benefit to holders of equity. It does not, however, move all the way to the new stable path
because the actual tax change will not occur for some time. From point B the model evolves
according to the original equations of motion (since the tax has not yet changed). It reaches point
C at the exact instant the tax change is implemented. After that, the model moves along the new
stable path toward the steady state at D. The paths of the model’s variables over time are shown at
the bottom of the figure.

E6. The Stock Market and the Costate Variable

Intertemporal investment models, such as the ones discussed in this paper, often generate
equations giving the optimal value of investment as a function of the capital stock, a costate vari-
able (or multiplier), and variables that the firm takes as given. In the model of section (2), for
example, equation (2.34) gives investment as a functiéh afand a number of prices:

1 A
l=— (—— - Px). 2.34
2we (1-7a ~ Px) (2:34)
If A were observable, equation (2.34) and others like it could be estimated econometrically. This
would allow values to be obtained for some of the parameters in the model, s@ich tee
expression above. More importantly, however, it would also allow the statistical performance of
the model to be assessed.

In what has become a very influential paper, Hayashi (1982) presented conditions under
which the marginal value of additional capital {n the notation of this paper) would be exactly
equal to the average value of the capital stock. This finding allowed observable stock market data
to be used to construct the unknown variahlevhich in turn allowed investment equations such
as (2.34) to be estimated. A number of studies along those lines were conducted, a good example
of which is Summers (1981). Because of its empirical importance, the remainder of this exercise
will be devoted to deriving the Hayashi result.

So far in this paper, we have always assumed that dividends were additively separable into
an earnings function, which was independent of investment, and an investment cost function,
which was independent of the capital stock. Now we will relax that assumption and solve the
investment problem under very general conditons. In particular, assume that dividends are a
function of capital, investment, and a vector of short-run variaBlgbat the firm takes as given:

D=D(K,I,P). (E6.1)

A single restriction will be imposed oR: it must be homogeneous of degree one in capital and
investment. For convenience, assume the interest rate is constant and there are no taxes.
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(@) Write down the firm’s investment problem and derive the first-order conditions that must
hold along the optimal investment path.

(b) Differentiate the following function with respect to future tiy@vhereA, as usual, is the
current value multiplier associated with the capital accumulation constraint:

F(s) = A(s)Ke "D | (E6.2)

Use the conditions found in part (a) to eliminate the terms i andK'. Then, apply Euler’s
theorem to simplify the result.

(c) Integrate the equation from part (b) over the intetyab) and discuss the result.

*kkkkkkk Answer *kkkkkhkk

(@) Since there are no taxes, the arbitrage condition used in section (2) applies. This means that
the firm’s value function can be obtained by inserting (E6.1) into (2.9) to give:

o)

V(t) = I D(K, I, P)e" Vs, (E6.3)

Thus, the firm’s investment problem is to chobde maximize (E6.3) subject to the accumula-
tion equation below:

K'=1-0K. (E6.4)
The Hamiltonian for this problem is particularly simple:
H=D(K, I, P)e" Y + A(l - 5K) . (E6.5)

Taking first-order conditions and converting the multiplier to its current value equivalent pro-
duces the following:

D
%I+A=O, (E6.6)

oD ,
W_dA__/‘ +I‘/\, (E67)
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| —-oK =K". (E6.8)
Equations (E6.6) through (E6.8) must hold along the optimal path of investment.

(b) Differentiating F with respect tos is straightforward and produces the following expres-
sion:

dF
45 = (MK +AK —rAK )eh (E6.9)

Using (E6.7) to eliminatd’, (E6.6) to eliminatel, and (E6.8) to eliminat&' gives, after collect-
ing terms:

dF _ 00D, 9D (e
s Da—KK+a—||ge . (E6.10)

Finally, sinceD is homogeneous of degree one, Euler’s theorem states that the following holds:

aD D
5 K+ 30 1 =DK1, P). (E6.11)

Thus, (E6.10) can be simplified to:

dF
45 =~ DK, P’ (E6.12)

(c) SinceF is known, integrating (E6.12) over an interval lj] is straightforward and pro-
duces:

b
A(b)K(b)e"® — j(a)K(a)e @V = - I D(K, I, P)e V(s (E6.13)
a
Choosing the limits of integration to bhendoco, and making use of the usual transversality con-
dition on the behavior of as time tends toward infinity gives:
[0

A(DK (L) :—J D(K, I, P)e" Vs, (E6.14)

The right side of this equation is exactly the same as the right side of equation (E6.3), so the fol-
lowing must be true:
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AK() = V() . (E6.15)
Thus,A(t) can be calculated using the formula below:

At) = :28 . (E6.16)

Equation (E6.16) shows that under the assumptions made above, the marginal value of an
additional unit of capitalj, is exactly equal to the average value of a unit of capifdd, Thus,
A can be calculated by simply dividing the firm’s stock market value by its capital stock. Assum-
ing that the capital stock can be observed or computed, (E6.16) provides a way of obtaining the
multiplier, A. However, this approach depends heavily on the assumption that the dividend func-
tion is homogeneous of degree one in capital and investment. If it is not, the average and
marginal values of the capital stock will differ.

E7. Constructing Finite Difference Formulae

Difference formulae accurate to high orders can be constructed by using combinations of
Taylor series expansions at several adjacent points. For example, a first-order difference accurate
to O(h?) can be constructed by subtracting the expansiofi(for h) from that for f (t + h). This
is known as a "central" difference. Using more expansions, it is possible to construct formulae
accurate to even higher orders.

It is also possible to construct difference approximations to higher-order derivatives. This is
done by applying the method used for first-order differences recursively. For example, an
approximation for a second-order derivative could be constructed as follows. First, difference
formula for " in terms of f' would be built. Then, inserting an appropriate difference formulae
for f' would produce the desired difference formula.

Finally, difference formulae can also be constructed for unevenly spaced grids in which
adjacent points are separated by varying distances. This is done in exactly the same manner as
for uniform grids, but with the appropriate distances inserted whehegppears. As discussed
in the text, uneven grid spacing can be a very powerful tool for reducing truncation error. How-
ever, it does introduce an additional source of truncation error at points where there are sharp
changes in grid spacing. This point will be discussed in detail in part (c).

(@) Construct a first-order central difference formula. How does its accuracy compare with the
forward difference presented in the text?

(b) Using the results of part (a), construct a second-order central difference formula. What is
its order of accuracy?
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(c) Construct the analog of a first-order centered difference for an unevenly spaced grid. Dis-
cuss its order of accuracy.

kkkkkkhkk Answer kkkkkkhkk

(&) As suggested at the beginning of the exercise, a first-order central difference is constructed
from Taylor series expansions around titntor timest+h andt —h. To fourth order, these
expansions are the following

f(t+h) = f(t) + hf'(t) + +0(h%, (E7.1)

h2 f ”(t) .\ h3 f m(t)
2! 3!

2¢101 3
F(t—h) = f(t) - hf'(t) + ;(t) _h ;I ® 4 oy . (E7.2)
Subtracting produces:
ft+h) - f(t-h)=
oL PP P
( f(t)+hf'(t) + 2 + 3 +0(h%)) -

2¢1m1 3

CE) —he) + O O L oeyy (E7.3)

2! 3!

Notice that the even-order terms all cancel out. Rearranging (E7.3) and dividing throulgh by 2
produces the central difference formula below:

f(t+h) - f(t—h)
2h

f'(t) = +0(h?) . (E7.4)

This expression is accurate @gh?), an order more accurate than the simple forward and back-
ward differences presented in the text.

(b) To construct a second-order central difference, start by expamt{iintga) and f'(t — a)
aroundf (t):

2 T 3 rrr
2f(t) &)

5 TR o(a%), (E7.5)

frt+a) = f'(t) + af"(t) +
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a2 f ur(t) _ a3 f ””(t)
2! 3!

fr(t-a) = f'(t) - af"(t) + +0(a%) . (E7.6)

Subtracting these, dividing through bg, 2and rearranging produces an expression analogous to
(E7.4):

f't+a)-f'(t—-a)

f” =
(t) a

+0(a?) . (E7.7)

Substituting (E7.4) for the derivatives produces:

f(t+2a) - f(t) _ f(t)- f(t-2a)
2a 2a

fr(t) = Zla ( ) + 0O(a%) . (E7.8)

Since all of the terms at+ a andt — a have cancelled out, we can define a new step Isixeth
the property thah = 2a. This allows (E7.8) to be rewritten as:

f(t+h)—2f(t)+ f(t-h)

2 + O(h?/4) . (E7.9)

fr(t) =

For the purposes of error analysis, the factor of 1/4 in the error term is ignored, so (E7.9) is accu-
rate toO(h?).

(c) A first-order central difference for a non-uniform grid is constructed almost exactly as
shown in part (a), except that care must be taken about the spacing of the points. The first step is
to construct Taylor series expansions arotufr t + a andt — b. To fourth order, these expan-

sions are the following:

f(t+a)=f(t) +af'(t) + +0(a%), (E7.10)

a2 f ”(t) .\ a3 f m(t)
2! 3!

b2 f ”(t) _ b3 f ur(t)
2! 3!

f(t—b) = f(t) - bf'(t) + +O(b%) . (E7.11)

Subtracting these produces:
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f(t+a)- f(t—b)=

aZ f ”(t) .\ a3 f Ill(t)
2! 3!

(f(t) +af'(t) + +0(@")) -

b2 f n(t) _ b3 f ur(t)
2! 3!

( f(t) - bf'(t) + +0(b% ). (E7.12)

In this case, the even-order terms do not cancel out. Rearranging (E7.12) and dividing through by
a+ b produces the following:

ftra)-fe-b) ., - 1, . 1&8+p°0,,
s = f'(t)+ 5; (@-b)f (t)+§gmmf t)+---. (E7.13)

This suggests using the difference formula below:

f(t+a)- f(t—b)

f'(t) = 4D , (E7.14)
which will have an error term given by the following:
1 n l %3 + b3 D nr

Whena andb are close in magnitude, the even-order terms in (E7.15) will be negligible. In

that case, the error will be essentiallfa?) (or O(b?) for that matter, since = b), which is the

same as for a uniform grid. On an uneven grid, in regions where the spacing between points
changes suddenlg andb may differ substantially. When that occurs, the first term in (E7.15)
will be significant, so the error will be more lik¥a). This effect can be minimized by avoiding
sharp jumps in grid spacing, and by locating any such changes in the regionsfiiftgie

small. By constructing more elaborate difference formulae, the teraHib) can be eliminated
entirely. For more discussion of difference formulae refer to Fox (1962).

E8. Solving the Dividend Tax Analytically

For most experiments with most models, it is difficult or impossible to obtain an analytic
solution to the model’s equations of motion. The eigenvector transformation described in section
(3.3) can be used when the model’s coefficients are constant, such as near the steady state, but no
general method exists for solving problems with time-varying coefficients. However, it is some-
times possible to obtain analytic solutions to particular models for particular experiments. The
investment models in this paper, for example, can be solved analytically for the case of an
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announced increase in the dividend tax.

Consider sector A's investment problem from section (6) of the text. Its equations of motion
were the following:

Na=(r+08)ra - A-T9), (6.11)
K'a=1a-9dKg,, (6.12)
and investment was given by:
1 Aa

'a= e, (@=ToHa-T9 ) (6.14)

Ordinarily, a model’'s equations of motion are mutually interdependent and must be solved simul-
taneously. In the problem above, however, the capital stock does not appear in equation (6.11).
As a result, (6.11) can be integrated in isolation to obtain a function giyfiy in terms of
exogenous variables. This function can then be inserted into (6.14) to obtain investment. Invest-
ment, in turn, can be used in (6.12) to find the capital stock. Thus, for this model subjected to a
dividend tax shock, it is possible to find an analytic solution.

(@ Assuming thap andW are constant, use a suitable integrating factor to solve (6.11) for a
closed-form expression fdr,(t) in terms of the other variables.

(b)  Now suppose the government announces that the dividend tax will riseTf\rcmeéj at
dater in the future. Using this information, evaluate the integral obtained in part (a). It will help
to recall the following property of integrals:

b T b
f(x)dx= [ f(x)dx+ [ f(x)dx. (E8.1)
R

(c) Insert the results of part (b) into (6.14) to obtain an expression for investment in terms of
the exogenous variables. Also, derive a funcidg(t) giving the change in investment at each
point in time from its value before the policy change was announced. Assume that the model was
initially at the steady state.

(d) Using a second integrating factor, solve (6.12) for the capital stock as a functiparaf
the exogenous variables.

(e) Combine the results of parts (c) and (d) to obtain an expressiggf@mwhent < r.
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kkkkkkhkk Answer kkkkkkkk

(&) By collecting terms im, on the left side, equation (6.11) can be rearranged as shown
below:

Ng=(r+3)A,=-p(1-T9). (E8.2)
This suggests the integrating factor below:
—(r+o)s
e . (E8.3)
Multiplying both sides of (E8.2) by (E8.3) gives:
(Aa—(r+0)A,)e s =— g1 -Td)g (s (E8.4)

If both sides of (E8.4) are multiplied lgt, the left side becomes an exact differential, so the
entire equation can be rewritten as shown:

d
S e 0= - (1 - T (E8.5)

Integrating both sides fromto co and assuming that, grows more slowly tham +J as time
tends to infinity, produces the following:

At) = J’ B(1-T9e (s Yys (E8.6)

Equation (E8.6) is the desired closed-form solutiomigt).

(b) To evaluate (E8.6) for an announced dividend tax change occuring at, tagt by split-
ting the integral into two parts:

T [o0]
At) = J’ B(1-T9)e A gs + J’ B(1-T9e A Yys (E8.7)

This expression is valid where r (the case of > r will be covered below). In each integr#,

andTY are constant, although® differs between the two integrals, so (E8.7) can be rewritten as
shown below:
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T o0
Aat) = BA-T9) J e 6N ds+ g(1-T9) I g ") s, (E8.8)
T

where the two values ofY have now been inserted. Evaluating (E8.8) is straightforward and
produces the following expression:

_Td — a(r+o)(r-t) —_ T o (r+3)(r-t)
PA-THA-e) | pa-THe |

Aa(t) = E8.9
a(®) . 2 (E8.9)
Finally, (E8.9) can be simplified to give:
1-Tdhy O qd_Td 0
Aa(t) = M 1+ 17d2 g ), (E8.10)
r+ 5 D 1 - Tl D

This givesi,(t) whent < 7.

Obtaining the value of 4(t) whent > 7 is somewhat easier because (E8.6) can be integrated
directly. Thus, foit > r the following must hold:

pO-TE)

Aa(t) = P

(E8.11)

Together, equations (E8.10) and (E8.11) give the valug &r any point in time.

(c) Finding an expression for investment is a straightforward matter of inserting (E8.10) and
(E8.11) into (6.14). Wheh< r, this produces:

0 0 1d_-d o O
l B Tl - T2 — —

I, = O + g+ pL. E8.12
2 2We, Or +5)(1-T9) g’ 1-T¢ g °0 ( )

0 0

In contrast, whem > r investment is given by:
1 B

o= -P3). E8.13
= 2w, L rraya-T ) (E8.13)

Notice that (E8.13) does not depend on the dividend tax, and is precisely the same as the expres-
sion giving investment before the tax change was announced. This is true because the dividend
tax falls purely on profits, so once it has been implemented firms return to their original invest-
ment behavior. Thus, the difference between investment after implementation of the tax and
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investment before the tax change was announced is zero.

In the period between the announcement of the change and its implementation, investment
does differ from its pre-announcement value. A function giving this difference is:

Alg(t) = 1a(t) - 13, (E8.14)

where the pre-announcement (and post-implementation) value of investment has been written as
15%. As noted abovel;® is given by (E8.13), so comparing (E8.12) and (E8.13) shows that the
following must be true:

d d
0 B dJTl -3 o (r+a)(-) g

Aal®) = Swe. 0r +o)@1-T9) 5 1-T¢ .

(E8.15)

(d) Solving (6.12) requires the same sequence of steps used to solve (6.11) in part (a). First,
rearrange the equation as shown:

K'a+dKy=1,. (E8.16)
Now, introduce the integrating factor below:
e’ (E8.17)

and multiply both sides of (E8.16) by (E8.17). As before, this converts the left side into an exact
differential, so the equation can be written:

d §<ae"sm= .. (E8.18)

Integrating (E8.18) from 0 tb(sinceK(0) is known) and rearranging gives the following:

t
Ka(t) = K(0)e™t + !’ 1,6°6ds . (E8.19)

(e) The remaining step is to eliminaltg from (E8.19) using the results of part (c). Start by
noting that from the definition I , in (E8.14), the following is true:

(1) = 155+ Al (t) . (E8.20)
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Inserting (E8.20) into (E8.19) produces:

t t
Ka(t) = K(0)e™! + ! 1559V ds + !maeﬁ(s-t)ds. (E8.21)

If the model was initially at the steady state, the sum of the first two terms on the right gives
the original steady state capital stock. To see this, notice that the second term on the right is the
net amount of capital constructed by investing at kgtever the period [@]. The first term on
the right is the amount of capital left after depreciation ovet],[@p the sum of the first two
terms is the amount of capital that would exist at tirgeven an initial stockK(0) and a rate of
investmentl 3°. Since the model was initially at the steady stbjejs exactly the investment
needed to perpetuate the original capital stock, so the first two terms must K(@).tdr hus,

(E8.21) can be rewritten as shown:

t
Ka(t) = K(0) + z!‘Alaeﬂs—t)ols. (E8.22)

InsertingAl , from expression (E8.15) gives:

t ,B(Tf _ Tg)e—(rﬂf)(r—s) C)

Ka(t) = K(0) + ds. E8.23
a(t) =K(0) 2WE,(r +0)(1 - Ts)(1 - T¢) > ( )
Finally, evaluating the integral in (E8.23) gives the following expressioK {(n):
T = TdY(@ )t _ g(r+o)r=ot
K (1) = K(0) + LU~ T2)® © ) (E8.24)

2W6,(r +9)(1-TS)(1- Tf)(r +20)

Equation (E8.24) can be used to find the capital stock in year 10 for the dividend tax experi-
ment discussed in section (9). Inserting the parameters given in appendix Al shows that an
announced increase #f from 10 percent to 20 percent to occur in year 10 caki$&g) to fall
from 1 to 0.9113, the value mentioned in the text.
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Al. The Trial Data Set

The data set used in section (9) is shown in the tables below. Since the base case was a
steady state, these values were used for each grid point.

Table Al: Variables in the Trial Data Set

Symbol  Definition Value

Ka Capital stock A, specific to industry A 1.0

B Short run profit on a unit df, 0.25

Aa Marginal value oK, 15

Ky Capital stock B, nonspecific 10.0

Yol Rental price of a unit oKy, 0.25

Ap Marginal value oKy, 15

Ktl) Type B capital used by industry 1 3.177778
K2 Type B capital used by industry 2 4.622222
Kg Type B capital used by industry 3 2.2

W Wage rate 1.0

L Total labor supply 5.0

LP Labor used in production by industry A 0.25

LY Labor used in investment by industry A 0.042593
L'b Labor used in investment by industry B 0.425926
Lq Labor used by industry 1 0.264815
L, Labor used by industry 2 3.466667
L Labor used by industry 3 0.55

Pa Price of good A 1.0

P1 Price of good 1 1.0

P, Price of good 2 1.0

P Price of raw capital goods 1.0

Xa Production of good A 0.5

X1 Production of good 1 1.059259
Xz Production of good 2 4.622222
X3 Production of raw capital goods 1.1

l5 Investment by industry A 0.1

Iy Investment by industry B 1.0

D, Dividends paid by industry A 0.121667
Dy Dividends paid by industry B 1.216667
C Private consumption 5.404500
G Government spending 0.776981
Tw Tax on wages 0.2
T2 Sales tax on good A 0.0
T! Sales tax on good 1 0.0

continued ...
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Table Al: Variables in the Trial Data Set, continued

Symbol  Definition Value
T2 Sales tax on good 2 0.0
T3 Sales tax on good 3 0.0
LS Lump sum payment 0.2
Td Dividend tax 0.10
TS Investment subsidy 0.10
Vi Technical change parameter, industry 1 0.620403
Vo Technical change parameter, industry 2 1.240806
V3 Technical change parameter, industry 3 1.0
ol Exogenous expectation, rental price 0.25
w* Exogenous expectation, wage rate 1.0
P3 Exogenous expectation, raw capital price 1.0
PX Exogenous expectation, price of good A 1.0
T Exogenous expectation, dividend tax rate 0.10
T Exogenous expectation, investment subsidy  0.10
o° Actual expectation, rental price 0.25
We Actual expectation, wage rate 1.0
P§ Actual expectation, raw capital price 1.0
PS Actual expectation, price of good A 1.0
Tde Actual expectation, dividend tax rate 0.10
T3¢ Actual expectation, investment subsidy 0.10
r Interest rate 0.05
7 Price deflator 1.0
Table A2: Parameters in the Trial Data Set
Symbol  Definition Value
o Depreciation rate 0.10
6, Investment parameter, industry A 4.259259
6y Investment parameter, industry B 0.425926
£a Labor exponent, industry A 0.5
£ Labor exponent, industry 1 0.25
£ Labor exponent, industry 2 0.75
&3 Labor exponent, industry 3 0.5
ad Share of private consumption, good A 0.080887
at Share of private consumption, good 1 0.171360
a% Share of private consumption, good 2 0.747753
ad Share of government spending, good A 0.080887
at Share of government spending, good 1 0.171360
aé Share of government spending, good 2 0.747753
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A2. The Model's Equations

The appendix lists the equations of the intertemporal general equilibrium model discussed
in section (9) in the form used to implement the model on a computer. For the most part, the
equations appear exactly as they did in the text. However, three changes have been made: deriva-
tives have been replaced by finite difference approximations, expected variables have been used
in the investment submodels, and several variables have been eliminated by algebraic substitu-
tion. Where possible, the equations have been numbered as they were in the text.

A2.1. Dynamic Equations

The model contains four true dynamic equations which link different points in time; two are
sector A's equations of motion, and two are sector B’s. Together these equations govern the evo-
lution of four variablesi,, A, K5 andK,. Since each equation of motion holds over each grid
interval, if there aréN intervals there will be M dynamic equations in all.

Equations of motion for industry A:

Aa(t +h) —2a(t)
h

=(r+0)A, - B(1-T%), (6.15)

Ka(t + h) B Ka(t) =

h a~0Kg. (6.16)
Equations of motion for industry B:
Ap(t+h) = Ap(t
: r)l O < (o), - p@-T9), (6.24)
Kp(t +h) = Kp(t
o(t+1) = Ko(V =1y, - 3K, . (6.25)

h

A2.2. Boundary Conditions

The model has four boundary conditions: the two initial capital sta¢k&)) and K, (0),
and the two steady state multiplieAg> andA;>. The capital stocks can be obtained from observ-

able data, but the multipliers must be calculated using the equations below:

sz BA-TS)

= (6.17)
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os_ PIL-TY

2
- (6.26)

A2.3. Intraperiod Equations

Each period’'s submodel consists of the 27 equations listed below. From Walras Law, how-
ever, we know that one of these is redundant, so we will drop equation (7.25) to leave 26 indepen-
dent equations. Since these hold at each grid point, a giMl inofervals will have 26{ + 1)
intraperiod equations.

Short run profit on a unit df 5:

B= (1 ;:a)éf\jvig Sl(l_ga)we . (6.13)
Investment by sector A:
'a = 2vvleea 5(1 = Td:l)?l 759~ P g' (614
Output of sector A:
Xa = (Lg)"(Ka)' ™2 . (7.1)
Labor demanded for production in sector A:
LP = DE"}‘—Pad/(l_ga)K . (7.2)
@ Ow O a
Labor demanded for investment by sector A:
L) =6,12. (7.4)

Pretax dividends of sector A:

Dy = PaX, - WLE - aagla B Wngl -T9). (7.5)
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Investment by sector B:

o= zvxlleerb g(l—Tde/;?l—Tse) -PS g (6.23)
Labor demanded by sector B:
Lp = 6pl2 (7.7)
Pretax dividends of sector B:
Dy = oKy = (P3lp + WLY)(L - TS) . (7.8)
Labor demanded by sectoi {1, 2, 3:
Li = ; XiEW(ig_igi)S_ei (7.10)
Capital B demanded by sectoiif1, 2, 3:
Kb = j. XigN(j;;gi)Si : (7.11)
Zero-profit condition for sector i1, 2:
XiPi = WL + pK] . (7.12)
Zero-profit condition for sector 3:
X3P3 = (1+ T3)(WLs + pK3) . (7.13)
Labor market equilibrium condition:
L=LP+L)+LL+L +Ly+ Ls. (7.26)
Capital B market equilibrium condition:
Kp = KE+ KZ+K3. (7.27)
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Consumption:
C=WLL-T") +(Dy+Dy)1-T% + LS. (7.14)
Government spending:

G =T%Da+ Dp) ~ TS(P3(la + Ip) + W(6a13 + 6p12))
a 1 2 3
+ T2PaXa + TeP1 Xy + T2XoPy + T3P3 X3

+ TWWL - LS. (7.18)
Market equilibrium for good i,(A, 1, 2:
PIX(1+TY) =akC+akG. (7.22-7.24)
Market equilibrium for good 3:
Xg=la+1y. (7.25)
Price deflator:

‘= XaPa(1+T2) + X Py(1+ T3) + XoPo(1+T2)
XalPa(1+T&)]p + Xa[P1(1+ TH]p + Xo[Po(1+ T2y

(7.28)

A2.4. Expectations

Next, there are 6 equations which determine investors’ expectations. These hold at each
grid point, so on a grid oN intervals, there will be &{ + 1) expectations equations in all. The
equations are as follows:

WE = (W) n(W¥)tn (8.1)
p° = (p)"(p*) M,

P = (Pa) (P ™,

PS = (P3)"(P3)" ™",

-I-de — (-I-d)/\x(-l-dX)l—AX
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TSe = (TS)AX(TSX)l—)lX )

Finally, we can verify that the model is correctly identified by counting its equations and
variables. From the table Al in appendix (Al) it can be seen that the complete model has 56 vari-
ables at each grid point, or 3¢ 1) in all. Adding up the number of dynamic, intraperiod and
expectations equations gives a total ofN3634. Subtracting this from 58(+ 1) gives
20(N + 1) + 2, the number of variables which must be set exogenously. This is exactly the num-

ber of exogenous variables shown in table 9.1, so we conclude that the model is correctly identi-
fied.
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